this necessity for exertion we find the chief source of
human advancement—the advancement of individuals as
well as of nations. It has led to most of the splendid
mechanical inventions and rzéoéggﬁw of the age. It
has stimulated the ship-builder, the merchant, the
manufacturer, the machinist, the tradesman and skilled
workman. In all departments of productive industry it has
been moving power. It has develop the resources of this
and of other countries—the resources of the soil and the
character and qualities of the men who dwell upon it. It
seems to be absolutely necessary for the purpose of
stimulating the growth and culture of every individual. It
is deeply rooted in man, leading him every to seek after
and endeavour to realise, something better and higher

than he has vet attained.

L-1691 4 32,200
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GSQ/M-18 | 1691
 ENGLISH -
Time : Three Hours] * [Maximum Marks : 80

Note : All questions are compulsory.

1. Explain with reference to the context any ore of the

following extracts : , 10
In Belmont is a lady richly left;
And she is fair, and, fairer than that word,
Of wonderous virtues; scinetimes wno_B her eyes
I did receive fair speechless messages :
Her name is Portia, :o.ﬁm:m under valued
To Cato's daughter, Brutus's Portia;
Or |
All that glitters is not gold;
Often have you heard that told
Many a man his life hath sold
But my outside to behold :
Gilded tombs do worms enfold.

Had you been as wise as bold.

(2-01/3) L-1631 P.T.O.



2. Explain any two of the given terms : ‘5
(i) Plot (ii) Tragedy
(ii1) Tragedy-Comedy (iv) Audience.

3. >sm$.§ any three questions in about 30 words each : 15
(1)  Who is Antonio ?

(i) Why did Portia and Herissa appear in the  court
under disguise ?
(i) What kind of a lender is Shylock ?

. (iv) What is there in the Caskets ?

(v)  Why does Bassanio need money from Antonio ?

4. Answer any rwo questions in about 250 words each : 15
()  Attempt the character sketch of Portia..

(i) Analyse the portrayal of female characters by
| Shakespeare in the play.

. (iif) Comment on the Trial Scene.

5. Write a letter to the Minister of Health of your state for
appeinting a radiologist in the Kalpana Chawala Medical
College and Hospital as patients have to go to private
diagnostic centres. _ 10

Or
Write a letter to the Chairperson of your Municipal
00555_@@ regarding the insanitary conditions in your
locality, which are leading to dengue. |

L-1691 2

Write one word substitution of any eight expressions :8

(i) A speech or writing too full of words.

(i)  One who talks continuously. _
(iii) One who is particular about the smallest detail.
(iv) A medicine which can cure all diseases.

(v)  Something which cannot be read.

(vi) Lasting a short time.

(vii) The killing of an infant.

(viii) One who reads book eargerly.

(ix) A person going out of a country.

(x)  Something which is certain to happen.

Write a short note on any one term : 7
(a) Memo (b) RTL
Or

Write an e-mail to the Department of Panchayat Raj
regarding the Digital Voter Cards of the students studying
in the colleges.

- Attempt a precis of the given passage and assign a suitable

title : . 10

Success grows out of struggles to overcome difficulties.
If there were no difficulties, there would be no success.
If there were nothing to struggle or compete for, there
would be nothing achieved. It is well, therefore, that men
should be under the necessity of exerting themselves. In

@-0U4) 1-1691 3 P.T.O.
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GSQ/M-18 1692
ENGLISH (Compulsory)
Paper : 11
Time : Three Hours] [Maximum Marks : 80

Note :  Attempt all questions.

1. Explain with reference to the context : 8

If it were done when ’tis done, then it were well
It were done quickly, If the assassination
Could trammel up the consequence, and catch.
With his surcease success: that but this blow
Might be the be-all and the end-al here,

But here, upon this bank and shoal of time,
We’d jump the life to come.

Or

Wash your hands, put on your night gown,
Look not so pale. I tell you yet again,
Banquo’s buried; he cannot come out on’s grave,

2. Attempt any four questions in about 150 words
each : 4x5=29
(@ What predictions do the witches make about
Macbeth and Banquo. in their first meeting with

them ?

3-01/7) L-1692 P.T.O.



(b) How does Macbeth get the title of the Thane of
Cawdor ?

(c) How does Lady Macbeth incite her husband to
murder king Duncan ?

(d) Describe briefly the Banquet scene.

(e) Attempt a brief character sketch of Malcolm.

() Comment on the role of three witches in the play
‘Macbeth’.

Attempt a character sketch of Macbeth.

Or

Comment on the dramatic significance of the opening
sceng in ‘Macheth’, . 10

aii wssay oi auy oo ol e followig oplic ia
about 420 words ¢ 15
{4  Wormen Empowerment (b Science and Religion
(¢) Menace of Ragging {d) Population Explosion.

Or

In lieu of translation for Foreign students only :
(a) Beauties of Nature - {(b) Evils of Dowry Svsiem
(c) An Ideal Teacher . 10

Jive

(@) Give one word for the following. Do any
(1) A place where bees are kept.
(1) The head of a corporation.
(iii)) A person who writes books.
(iv) One who shoots with bows and arrows.
(v) A person who pretends to be what he is not.

(vi) Une who dies for a noble ¢

Syrea A i~ e i 7 ~ Fele g 4 =
{vity A persca who, belicves fu : 5
A Nevalpe ¢ va ,.mu.,uﬂ)ﬁ.u?. hasad mpes a2 0 28 g G

exchanges on the situations given below -

O R IR o A VI B S
twe fiiendz meet at a wedding petty. Write "a Tan

the conversation between them.,

Or
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(%) ‘e THes e’ S oW AR T 3R w = RO N evvvrvinimsissnnnannes Total Pages : 04
fref-eft omqefa w1 ® Fww € 2 GSQ/M-18 1694
(7@) j w1 .97 9" F= oo ? dﬁsluw «,mu_.”nﬂ_m_.m%w ’

() ‘WErER ® AT’ % OwE FE 8 2

() forEsh ¥ ofgT SR WY # g% fHen @ g fewe ~ [Maximum Marks : 80

Time : Three Hours]

=7 ? .
.m,aq ) . T[T - wH T o § o

() ‘N W w1 gHe 9 W ' fEY d W s
59 Fa & 2 . 1. frefafar § @ fs 2 o7 quam omen SR ;14

(F) ‘foemd » vy W oy ¥ o@ww 7 fvaw 7 =
. I & geid go fmar ® 2
(®) sfam = &= @ e afed & 9w fafew |
() o ¥ owRg § W W fFm o9d Fwoamm
7
() sfamet 9o o fafed S @ wREw w1 I
fafe 1
(A1) w=e w1 9y fafag
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3.

() TEMA A @1 €, A9 gell IR e F andreRn
¥ ggan fF €, frad € feE A W1 99 ¥ e
g, WA ®E W B, § "9 WA §, "9 ged
7 |

(F) FW TG IWE 1 Feqd off Hi sE 60
FEE S T E 7 UE-TR H AEE W T
71O HEA B T ¥, AW B @M qa-%d &
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(=) ‘W Tm w O g’ e gEe ft faenfrem
fgsr’ < =1 @ oTer w/ oo ?
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(F) TFHRE fFad TR ! g § 2 foeem wifse |

(@) s H1 9= W TH AR fafew )
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(%) a9 F FFuRon W uE Ar fafew
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HISTORY
~ Option I

Modern World

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory.
The candidates shall attempt fowr more questions,
selecting ore question from each .Unit. All questions
carry equal marks. The part relating to explanatory note
on map will carry full marks for visually handicapped
candidates only.

FA UG I ® TR AT | oy wew 1 AftEd
? | fomfial w1 9w ww vl ® S yE g
Y FH A FH R TH O B A ot v
% ¥F WA R | RN faufE ® fau wmte
et e ool e 9m o w @ ostw g |

Compulsery Question ( 37Fard g)

1. Choose the correct answers from the multiple choice

questions. Fach question carries 2 marks.
AEaHTId TN A ¥ TE IW gAY | y&E TH 2 IF
H R |

B-0¥19)].-1708 P.T.O.
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(ii)

(iif)

(iv)

L-1705

Which famous painter’s creation is ‘Monalisa™ ?
(a) Petrarch (by Titian
(d) Leonardo da Vinci

(¢) Sanzio Raphue
‘grfamr’ e wfeg
(e7) W () =rsfem

(9) (z) fogmm T foit
The reformation was started in Germany by :
(a) Zwingle (b) Calvin

(d) Martin Luther

(¢) Petrarch

S § yd-guR eTeeR T ST S ATl o

(31) fEmed (") wHifeaH
(|) g (3) 9feA
‘Modern Capitalism’ was wriften by :
(a) Adam Smith (b) Karl Marx

(c) Werner Sombert (d) Colbert

‘iz Sfpefosy’ me TRE ® wEw 9
(31) wew fHy (&) et Tl
(¥) IR "= (%) =Heae

Mule was invented by :

(a) Sammual Crompton (b) John Kay

(c) Eﬁmmﬂmwﬁm (d) Carter Wright
A # faser fem o
(1) o W (|) S *a
(Q) TrEiss (%) =L T

2

(v) Louis XVI was assassina:2d in which year ?
(a) 5 May, 1789 (b) 14 July, 1789
(c) 30 September, 1792 (d) 21 January, 1793
o Heed W e F9 w2
(s1) 5 T, 1789 () 14 o, 1789
(") 30 faaar, 1792 (%) 21 s=ad, 1793
(vi) ‘Boston Tea Party’ incident occurred in :
(a) 1773 . “(b)y 1775
(c) 1780 (d) 1783
‘I 9™ TEl ® Wed we R ?
() 1773 . (%) 1775
(9) 1780 () 1783
(vil) When was the ‘International African Ass. ~iation’
established ?
(a) 1869 - (b) 1876
(c) 1881 (d) 1896
‘TSI IR WE' Wl TG HA gE 2
(1) 1869 () 1876
(9) 1881 (X) 1896
(viii) ‘Mein Kampf® was written by :
(a) Fredrick Ebert (b) Mussolini
(¢) Hitler (d) Gottfried Feder
‘B g WE g% &1 A H e
(31) Weflg R ¥ (3) yEfad 3
(m) feeem A (3) Tiewme weX I
(3-03/15).-1705 3 P.T.O.
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nit I (3% 1)

Examine the main causes of |

o~
T

TR H OIIA F OUGE R w

~ [

gean wafae

“xamine the impact of the Agricultural Revolution in
Western Europe.

o= 9§ oy wmifk & veme o wian wifm )

Unit 11 3513 1)

Describe the social, economic, religious and intellectual

canses of the French Revolulion 178 A 1Y)

Discuss the results of the First VWord War
GoT THYEGE o WROTH @l wEl :uS

Unit TIL (F578 1113

Give a critical analysis of the Peace Settlement
of 1919-20.

191920 % & i GRS &1 @S

T

What were the factors respens;

in Italy.

] B BT $ TR T R wTw o8 0

L-1705 4

(3-03/16)L.-1705 S

Unit IV G 1V)

On the outline map of Europe show Europe on the Eve

of French Revolution. Also write an explanatory note.

On the outline map of world show mowg.Nmmos of countries
before World War-1L. Also write an explanatory note.
mﬁ%w@‘ﬂﬁmﬁw&dﬁﬁmﬂ@ﬁiﬁ
7o TiEn | U% onels feoon o fafen |

g 15,850
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GSQ/M-18 1712
ECONOMICS
Sectoral Aspects of Indian Economy

Time : Three Hours] [Maximum Marks : 80
Note : Attempt Five questions in all. selecting at least onc

question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks.

WOH THE 9 Usk W TG g0 wEel gl 9w #
SR A | weE gew 1 dmard 7 o sl e &

HFE THH T

Fill in the blanks with appropriate words : 8x2=16

(1) Land development hanks provide.............credit
to formers. (short term, long term)
{11} The basic cause of pelutions 8.,

(ii1) Sex-ratio in Harvava is the........ .among
all the States of India. (best, worst)

g v 9 frem v wfw
() 9m faww a% fFEe e B g
e | (ATT FEA, A FRA)

223

(3-06/10)-1712 PT.O.



viferal, s witwan)
A::ﬂﬁ%ﬁjdﬁqaﬁﬁ%ﬁmdﬂu_
E= S 5 (T o, TEE )
(b) State whether the following statements are True or
False :
(i) In India, green revolution started in 1967-68.
(i) Indian Economy is a socialistic economy.

(iii) Land reforms have not benefitted Indian

agriculture.
Ty fr frefafed o § 9 sE@ T @
T T ? .

(i) wa H =Ra wf 1967-68 T I® T

(i) 9 ereforaten UF HHSEE] AL
T

Gi) 9f Rl ¥ s FfH ow @w A w
g |

(c) Choose the correct alternative :

T fawes giw

(i)  Which of the following is the cause of slow
progress of land reforms in India ? 2.
(1) Incomplete land records
(2) Excessive litigation
(3) Lack of political will
(4) All of the above

T
(1) 9 f&Frel &1 @l &m
(2) FTAfus  THRIEHATSI
(3) TeHITT® Te-wik ®1 R
(4) s =
(i) Human development index for different
countries is calculated by
(1) World Bank
(2) World Trade Organisation
(3) UNDP
(4) India
faf= 29 & fou ome fasm g
(1) fava =%
(2) fava =R e
(3) FEAEL
(4) d

Unit I (318 1)

What are the main defects of agriculture marketing

in India ? Give suggestions to improve agriculture
marketing. 8+8
TR § Ffu faw w1 qed s sad € 2 3 o |
g % fag gam dfd

L-1712 2 (3-06/11)L-1712 3 P.T.O.



Describe the main land reforms introduced in India
agriculture after independence. 16

U & 9o wife

Unit IT 37 1)

" Describe the main features of 1991 industrial policy
of Government of India. What are its main
weaknesses ?

ﬁﬁﬁﬂmﬁ@fﬂ@%@ﬂ%ﬁm@

10--6=16

What are the main problems of Cottage and Small Scale
Industries in India ? Give suggestions for their rapid

development. gig

R § I oY A et e waend = Y ) o
i fawm & fau gem €

. Unit I (3&T¢ 1)

Explain the advantages and disadvantages of WTO for

India. ce

T % fou foaveg =9 §en % oy w5 e = s

i |

L-1712 4

9. What are the main components of

| e “pavments of a country
v Balance of Pavments of a c< \
What do you nrean by Balance of Fay

. . - of
of adverse balance of payments O
4+12

Describe the causcs

India.

U— 4%/ 3
TF ST ED g Ty T ATHE 9 afea ¥
/.,.,.,f HYC -

CUEIEENE £ ETI FT

Unit TV @& 1V)

i ana 9
 rati Haryana -
What are the main causes of adverse sex ratio in rarn

. o ex
iprove sex ratio in Haryana. 8+8

jive wcmmmmﬁosm to in : .
o fof sTuE & HEA B F 7 7 fem

ﬁqﬂﬂﬁmﬁ%?ﬂﬂﬁmﬁm_

Fiscal Policy ? Describe

6+10
India. L
i T @ e TeE wEM B € ) I TER B
Hifs =1 gea wEE S _
5 | 7,000

(3-06/12)L-1712



(ivj  Write down the advantages of Interval Training
Method.
e uhner fafy & v fofee |

(v)  What do you mean by continuous training method ?

gy ofvem fafy ® w0 aed E 2
(vi) What are the effects of stimulants on our health ?
SSEl F1 FAR W@Red W ¥ UNE TS 8 2
(vii) What are Levers ? |
e T 7
(viii) What do you mean by Class-I lever ?
we YER F SOEE H o aed § 2
(ix) How does temperature affect sports training ?
e e §ER O WEe w getEs w2

(x) Clarify the meaning of Extrinsic Motivation.

FEd dRTRe w oY e FE |

1-1720 4 3,900

RO NO. veverreeeeeemmesessesens

GSQ/M-18 1720
HEALTH AND PHYSICAL EDUCATION

Total Pages : 04

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Select one question each
from Units I, 11, III and IV where Q. No. 9 (Unit V) is
compulsory. All @:mmao:.m carry equal marks.

e ure ye & Swe e | R LIL I a1V
@ﬂﬂ‘@ﬁuﬁwﬂ%ﬂ%ﬂﬁgo
(s V) ofEd 1w T o oE W E

Unit I (3&T3 1)

1. Clarify the meaning of Socialization. Does regular
vmao%maos in games and sports promote socialization ?
Clarify.
ﬁgﬁﬂsﬂiﬁﬂ%_ﬂ@%m%ﬁ@
g oY § e # agEn fiomn € 7 TR &I

2. Flucidate the effects of social cmwm(‘woﬁ. on the

performance of Sportspersons.

%%ﬁ@ﬂ@%ﬁ%ﬂﬁwm@ai
F =R wIET |

(2-07/1) L-1720 P.T.O.



3.

Unit 1 (Z&TE 11) -

What is circuit training method ? mEoEmE its types,
characteristics and mae‘m:&mmm. i

afify wforger fafu = € 2 3O gER, foviwaen | o
F I HIS |

What do you mean by Doping ? Explain the types of
doping in detail.

S @ oA ¥ 0 ofm B vER &1 fgd avA
HTSIT |

Unit I (g1 111 )

What is Sports Biomechanics ? Is biomechanics helpful
for getting apex performance in sports and games ?

Explain. :

T SE-TitE ¥ 2 R BE # Se WA & A

Hg-wfF TEEs® © 7 9vA ST |

Elaborate the Newton's laws of motion. Are Eomo. laws
applicable in games and sports ? Clarify. |

= & T & Fram @ o w9 | wn deEs ¥ @
frami = T T € 7 e I |

L-1720 : 2

Unit IV (3&TE 1V)

What do you mean by Digestion ? ‘Explain the effects of

7.
exercises on digestive system in detail.
oA R @ oY W HEEd § 7 AW % WreA HEd
T gEd o gqE w1 fawga §oF. S |
8. Explain the structure of various organs of digestive system
in detail. .
e HEE & fafre o w1 OiEe @ Gfesr J9e
FISY |
Unit V (5% V)
- Compulsory Question ( rfarE wed )
9, (i) Define Motivation.
AfgReT 1 AR it |
(i) How is motivation helpful in learning sports
activity ? |
TR Ba fra & d@ed | f5e ToR 9
%2 |
(iii) Intrinsic motivation is more effective than extrinsic
motivation. Explain.
TEd SfmRe W oemen oTwRe I sifiek
wwE g €2 9ol i |
(2-07/2) L-1720 3 P.T.O.
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GSQ/M-1¢ 1722
MUSIC VOCAL
Paper I (Theory)

Time : Three Houss] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. All questions carry equal
marks. :

TR TEE H UE W G T, e utw gei @
SW AN | wht g oww g ¥

Section A{@YE "u')

[

. Write down the detailed description of Raga Bihag with
two Alaps and two Tana:. 8

Give the notation of Siow Khyal of any Raga with one
Alap and one Tana from your syllabus. 8
A UEEEE ¥ e e o % o o 5
AT wF s sk wF 9w wfew fargg

(2-97/5) 1.-1722 P.T.O.



Write down Teental and Jhaptal with Dugun, Tigun and
Chaugun Layakaries. 8
fae qen A g, e dqen =hE euwrE ofed
fafa | .

Give the notation of Raga Deshkar for Fast Khyal with
two Alaps and two Tanas. 8

W WEHR & Fd S F WiAfd & e den & aEt
wfeq fafem |

Give short introduction of Raga Bahar and Raga Miyan
Ki Malhar with one Alap and one Tana. 8
[ TR A W w1 Heer w1 W ufem e
AAY T4 Toh O Hied fafeg |

Section B (@Ug ‘q')

Give the detailed historical study of Indian Music from
17th to 19th century. . 8
17e | 195 waredl 9% RdE O @ soed w fawgm
R HIfST |

Write in detail about voice culture. 8
w3 TuM # favg ¥ fawwgEs fafen |

Give the contributions towards Indian Music by Krishan
Rao Shankar Pandit. 8
FOT @ TR Gfed S e TG F &F H ATRE H
Al Hieg |

L-1722 2

Section C (@08 ‘®')

9. What do you know about Folk-Music ? Write down
about folk music of Haryana and Punjab. 8
o Wi % fowg o oMy o 9d € 2 uE qen siamm
% i Gia & fawg | auia wifeg |

10. Give in detail about the classification of instruments during
the medieval period and modern period. 8
e Ul MY g H Al &1 Ao fRY yer 9
fhar T ? w fqwg 9 faamrgEs =@men | |

(2-07/6) 1-1722 3 13064
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GSQ/M-18 1724
MUSIC INSTRUMENTAL
(Theory)
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one
question from each Unit. All questions carry equal
marks.

TIF THE § HH Y FH TH W g9 g, HA Ui
T & IR AR ) weft weA & ok @EE €

UnitI(S=3 1)

1. Write the notation of Maseetkhani Gat from your syllabus
in any Raag. Write four Toras in it and two Alaps with
Aaroh, Avroh and Pakar. , 8
A UggEH | ¥ Fuifa T & enar W R ww T
H AEAEH! T 396 AR A, [ AN ARE, ITEE
qdql ghe Higd fafem |

2. Write the comparative study of the following Raags : 4+4=8

(i) Bihag (i) Kamod
frafafea T #1 gorras e fafau .
(i) fasm (i) ®HER

(2-07/9) 1.-1724 P.T.O.



n

Write the notation of Razakhani Gat in Raag Bahar with

1 dl description. 8
ﬁiq@ﬁmﬂﬂﬁﬂﬂﬁ@%ﬂﬁj
ufe3 fafaw |

Unit IT (3=61E 11)

Write the notation system. Explain its merits and

demerits. 8

%i%gwﬁﬁmﬁﬁﬂw@m_

Write the development of Indian classical music in detail
during 17th to 19th century. 8
17 | 199wt o fegwart wreig g % e
& TR ST |

Write Igun, Dugun, Tigun, Chaugun in Dhamar and
Sultaal. . - 8
WAR W F el HOTE, §E, fE ogw Shm
fafeT |

Unit I (3RTE 11T )

Write the contribution of Ustaad Vilayat Khan in

promoting music. 8

gg%%%%ﬂﬁﬁﬂ@ﬂmmﬂﬁ%
griifaer ARE # T #ifTe |

1-1724 2

8. Explain and write the role of Electronic media in
popularising Indian classical music. 8
R T i % faere | st difear w1 e
IER ' 7 ffew |

9.  Write the historical development of Raag Bhimpalasi with
its full description. 8
T Yot w1 tfEifes e % @i swe Puliten
fafem |

10. Write the contribution of Ustaad Ali Akbar Khan. 8
SWIR el kel W #1 dEA fafEy |

(2-07/10)1.-1724 3 800
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GSQ/M-18 1725
MUSIC
Paper 1 (Theory)
Instrumental (Sitar)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. All questions carry equal
marks. :

ToF TEE Y w9 Y FH TR WA T g, FA ure
e @ IR AR | me v B oi% e §

Unit A (33 A)
1. Give detailed description of the following Ragas : 8.
(i) Khamod (i) Bahar
frefafen o @ uiem fawm @ fafen -
(i) R (i) =ER

9. Write the notation of Maseetkhani Gat with two Todas in

any Raga from your prescribed syllabus. 8

g weEEd 3 R off W F e T R el wfed
wfafras HiEY |

(2-07/11)L-1725 P.T.O.



Write the notation of Maseetkhani Gat in Raga Bhimplasi

vith full description of same Raga. 8

%_&ﬂﬂﬁﬁnﬁﬁ%mﬂﬁﬂﬂﬁ_@%ﬁm
affag Fifse |

Give full detail of a Tala from prescribed your syllabus
with Thah and Tigun Laya. 8
ﬁﬂgﬁﬁm&igmﬂﬂaﬁaﬁmﬂﬁﬁ
3 R for fafem |

Unit B (3% B)

Write the merits and demerits of notation system. 8

ﬂmmﬁaﬂ?dﬂw%@-&m@m@m_

Write in detail on development of Indian classical music
from 17th to 19th century. 8
WIS W W Il w9 o aRedT ey g fowrg
¥ % 9 A fgmr 9 fafay |

Write your own words about any two Sitarist who were
born during 17th to 19th century. 8
Rl T ¥ S e d Y g
foaR arsl & O F o vt W aofy HINT |

L-1725 2

Unit C (38 C)

8. What is the role of Ali Akbar Khan in the promoting of
music ? Write your own words, 8
ﬁ%ﬁﬁ@ﬂﬁ%ﬂmﬂﬂﬁmﬁmﬂﬂww
fo@r @ "arT |

9. Write about the life and contribution toward music of
ustad Vilayat Khan. 8
sEme fawEd o # et w wie § e ST
IR H 9 v F gl HIST |

10. What is the role of electronic media in popularizing
Indian classical music ? Describe in detail. 8
WRdTE el Wi w) wemr o i TRIE Hifear w5
1 g € 2 fR ¥ mawrm |

(2-07/1231.-1725 3 500
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GSQ/M-18 1733
OFFICE MANAGEMENT
Computer Applications in Office Management

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions.

fael g W % W T |

1. (a) Differentiate between Primary and Secondary Storage

of Ooi@:ﬁon System. 6

wafaw iR Weafis ©Ra Jorelt @ ff" sfR e
- #f
(b) What are two main components of CPU ? Also
explain functions of each unit. 10
CPU & T J&F UHh 91 € ? Y% THE & &
# e @ wfw

2. Compare different Networks—LAN, WAN and MAN

using suitable examples. 16
faf¥=1 Fesw—LAN, WAN 3R MAN #! 39gF S
F T FW g I ®iNT |

(2-13/13)1-1733 P.T.O.



Define Operating System and also explain its types and
uses. 16

Afen fawem = wRafg ST o @@ gwr ok
ST H THEET |

(@ How can we create a Table in Word Processing ? 8
WX WEH § TH TE a9 9N ¥ 2
(b) Define Macro. Explain the steps to create Macro in
word Processing. _ 8

Macro &1 uiteifog ®ifst | sk gEeA ¥ Macro
T ® fau ol w® gEmmrEe |

Explain the concept of Online Data Processing in detail
with suitable example. 16
Heg ST WRFHT Y STEUROn F A STYH I
% Wy R @ s |

What is Database Management mv@oa ? Also explain
main components of Database Management System in
detail. 16
TIEY YA FOIE 1§ ? STEE WA WOIeh & e
wew # fowR @ wasd |

What is Topology ? Also explain different Network
topologies in detail. - 16
st w7 R ? o afufem fafe Yeas Adelst @
fowm & wmed |

L-1733 2

8.

10.

Write short notes on the following :
(i)  Application Software (ii) System Software. 2x¥
frefafen = dfea fewfral fafeg .

(i)  Application Software (ii) System Sofiware,

What is Multimedia ? What are the components used for
it 7 Explain with example. 16
Teddfem F= 2 2 TE f wEm BR A wew wm
¥ ? ST wfed ey |

Explain the following terms : : 4x4
(i) Field

(i) Master Key

(iii) Primary Key

(iv) Report and Form Generation.

frafafes = =t = wifsu -

(i) s
(i) W HIA
(i) wafas e

(iv) RO qu1 9@ SHeW ® oamen |

(2-13/14)L-1733 3 160
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GSQ/M-13

1740

COMPARATIVE CONSTITUTIONS IN

UK. & USA.
Option (1)

Time . Three Hours] [Muximum Marks @ 80

Note : Atempt Five questions i all selecung at least one

question from each Unit. Q. No. 9 is compulsory. All
ks,

questions carry cqual mar

TS TFE W TR R gEd LU X ore ¥ OH

oSN e g v N
ST RLEE ¢ WEH WETT $ SmaE %o Hs
Ay

¥ TER B
Unit | (5% I}

1. Explain the Legacies in U.S.A.
smfEd faugal 1 sned w6 |

2. Basic features of U.K. Constituticn.

Tefe % dlaum =
Unit I 3&7 1)

3. What is the Justification on Monarchy in U.K.

o A Ne .
TTHS H OIS HOF ST

2

7

(3-33/9) L-1740

preiiic

16

16

P.T.O.



American Senate is the most powerful second Chamber

in the éoza. Examine.
i Wz fova &1 gag wfwwrel @ ow ®
ST AT
Unit I (372 11I)
Describe the role of pressure groups in UK. 16
grofs | <ae wgel w1 i & avl s
Explain the Political Parties in U.S.A.
st ToRfes Te W fewnlt fafe
Unit IV @&TE 1IV)

Explain the Electoral Process in U.K. 16
Tl F I WRE W Hifeg

What is the voting behaviour in U.S.A. ?
i § waee =eer W feaeh fafen

Unit V (3% V)

Write short notes -on the following : 2x8=16
(i)  First President of U.S.A.
(i1) - Name of main fwo Political Parties of U.K.

(ili) - Two functions of Bureacracy.

_(iv). Two merits of Bicameral Legislature.

"y

L1740 2

(v) Two basic features of U.S.A. Constitution.

(vi) Short answer of theory of Checks and Balances in
U.S:A.

(vii) Briefly explain the Supreme Court of UK.

(viii) Election procedure in U.K.

frefafes w dfra feoford fafen

() emRe & ww Tgdd w; AW T

(i) T™E B q g TARE @ B AW TR

(i) FFEmE ® F FE FRI

(v) fefm o faurdea & €

(v) omfEa d@fgym =t o favwd |

Asvﬁ%ﬁwmﬁmmﬁdﬂ?ﬁdﬂﬁ_

AS_vmumwwmw.mmTﬂ%ﬁ.ﬂmwﬂﬁﬁﬂﬁﬂdw
fafa | |

(vii) ¥ # TIE wfEa |

(3-33/10)L.-1740 3 8,650



(vii) Political System of England :
(a) Federal (b) Unitary ROl No. v fotal Pages : 04

(¢) Presidential (d) None of these GSO/M-18 1741
ST W I YOS : - ,s, . o
() e - 1CAL SCIENCE

"

i

S TANY Mx

, . are 1v ..,.‘-A,,.,.,.S.J;w,ﬂ,.w‘.., FITW &
(viil) Barak Obama belongs to : Comparative Consiituiion of UK & USA.

(2) Republic Party (b) Democratic Time : Three Hours] iMaximum Marks : 80
(¢) Labour Party (d) None of these

IOF oG H GEN T _ Note :  Attempt any
(37) fuafsserg ot ° (9) fref iy Wi W

() o Wa 9 (%)

5 e N ~

,,n;, ; ,
TR e T AHRET H RTINS TR

2. Justilication oi Monarchy n England. 16

vz § USay 1 en e g7

owers of the American

6,10

3. Describe the organisation and

"

e T |

SRR B

e =T Tl

4. Lord Sabha of England is 1ot only the Second Chamber
but Secondary Chamber. Explain. 16
FEmE 1 WE HET gO0 URA € T afew g TS W

1
e 7 ) wwe =i

L-1741 4 3,050 (3-06/17)1.-1741 P.T.O.



Comparison between the powers of British PM. with
American President. 8+8

AU & WUM WAl H FHNEA URIW ¥ gad Hieg |

What is the voting behaviour in England and America 7 8+8

e ok omfieT ¥ HagH =err W AR fafew |

Write a note on the Party System of U.S.A. 8§+8
it Teg Tomell W AR fARae |

What do you maen by Pressure Groups in UK. ? 8+8
/ ~

SUE W T TRl U GET RN AN € 2

Objective Type Questions : 8x2

sgfaseda 99

(i)  Chairman of Commons Sabha :

(a) Speaker {by PM.

(¢) King (d) None of these
FIHT GH wL Y

(31) T (F) wa= =

(=) () ¥ H R T

(ii) British Constitution :
(a) Flexible (b) Rigid
(¢) Rigid & Flexible (d) None of these
.m.ﬂ%ql@.. @1 dfgge
() o () ®eR
() T ¥ HE T

(¥) TFIR Al

L1741 2

(iif)

Tenure of Commons Sabha :

(a) 4 years (b) 5 years
(c) 6 years (d) None of these
FOE W H HREE |
(3 4 =9 () 5 =9
(@) 6 = () ¥ ¥ = T
(iv) American Political System :
(a) Federal (b) Unitary
(c) wmﬁ:mgoama\. (d) Monarchy
T WA wuE
(37) HerHS® (I) THEH
(@) weda (%) T
(v) Tenure of American President :
(a) 4 years (b) 8 years
(c) 2 vd.mnm (d) 10 years
T el #1 FEEE
(1) 4 = (@) 8 =
(@) 2 =9 (%) 10 =9
(vi) Party System in England :
(a) Single (b) Double
(¢) Multy (d) None of these
Iefe F <A wEen |
(31) e (@) fomela
(W) gaei (®) T ¥ w8 T
(3-06/18)]-1741 3 P.T.O.



(b)

8. (a)

(b)

1-1744

For what values of z. the function

=sinhwcosv+icoshusiny

[N

ceases to be analytic. 2%

Find the regular function whose imaginary part
is : 2%

sin 2x

If u+v= and f(z) = v + iv 1s an

cosh2y —cos2x

analytic function of z, then find f(z) in terms of z.
2%

Section TV

-~

Find the image of |z — 3i| = 3 nnder the mapping

K\MHnHI.. N—\N

Find the fixed points, normal form and nature of the

. . . 3z—u
following Mobius transformation 1 =~ = 2%

Show that cross-ratio remains invariant under mobius
transformation. 2%

Find the region of the w-plane into which the region

WA&AH d
Ssxsl an

transformation w = z2. 2

<y<l is mapped by the

| —

4 4,500

ROHNO. v Total Pages : (4

GSQ/M-18 1744
REAL AND COMPLEX ANALYSIS
BM-36!

[Maximum Marks : 27

)

Time : Three Hours]

Note : Attempt Five questions in all, selecting at least onv

question from cach Section. Q. No. 1 is compulsory.

(Compulosy Question)

1. (a) Show that : 1V
o -
._. eV dy = u\ﬁ
2
(b)  Change the order of integration of : 1Y
a /\,\,mﬂu‘r\._,u
[ [ ree yydxdy
0 0 .

(¢)  Find K such that the function .
flz) = 7 cos 20 + ir2sin KO is analytic. 1
(d) Find the fixed points of the following mobiles

transformation : 1

(3-07/1).-1744 P.T.O.



(e)

(b)

(b)

L-1744

)

Define Fourier series {or Fven and Odd fon

defined in the interval [-m. =]
Section I

Prove that the tunctions

S / o
=S  X-+sin _.ﬁ v=xl—37

are functionaily dependent. Also find

between them.
Show that

(m=Nl(n-N!
(m+n-1)!

B(m, n) =

Evaluate :R&x&\ where R is the region b

R

by the parabolas y? = 4x and x? = dy-

Show that the volume of the tetrahedron o:

by the planes x =0,y =0, z = 0 and WT%
a &
. abc
is —.
6

ifm.nare positive o

Section 11

4. a8y Fourter series (or  Expansion)
ton flvy = - <y < om Also deduce
wat 27
bl
o 1 N n
.i;,x,ruqu |..M| ........... =
S 8
(bi  Obtain the Fourier expansion for f{x). if : 2y
(-1 . —m<x<0)]
£ V)=
A= ﬁ
x . O<x<m|
5. fa) Prove that
(O ﬁ o’s]
5o o » H 2 —
| 7o de=1 wmm+MA&w+@mv
S - n=1
ided the Fourier series for f(x) converges
untformiy n (C, C + 2/). 2%
) ihe hali-range cosine series for f(x) = x( — x)
in the interval (0, n). , 2%
Section IT1
6. (a; [falunction f(z) = u(x. y) + iv(x, y) is differentisble
at 1w point 7, ¥ X, * iy, in a domain D. then prove
that the four partial derivatives u,, u; v. and v,
exist at {x,. y,) and satisfy the equations
v = ond g, = vy 24
{36743 -17 44 3 P.T.O.



9. (a)
(b)
L-1745

Let T be a lnear opc o an inner product
space V(F). Then prove that [* exists and
TT* = T*T = 1 iff T is unuary. 3

Let T be a self adjoint operator on a [mite
dimensional inner product space V. Show that Tl s

real. 2

4 4,500

i

Total Pages :

]

GSQ/M-18 174
LINFAR ALGEBRA
PM-362

L2

Time : Three Hours] [Maximum Marks : 25

ote : Attempt Five questions m all. selecting at least one

question from each Unit. Q. No. 1 is compulsory.

Compuisory Question

1. (a) For what value of k will the vector u = 1,k 5,

V,(R) be a linear combination of vectors v = (1.
3.2y and w = (2. -1, 1 2
(by  Show that the ansformation [ @ R3 — R? detined
by T(x;, xy, x3) = (¥, X,) is linear and is onto but
not one-one. . 2
(¢) Define the self-adjoint operator.
(d) Define characteristic polynomial of  a linear

transformation. i

Unitl

2. (a) If W, and W, are two subspaces of a fiiic
dimensional water space V(F), then dim(W, + W)
= dimW, + dimW, - dim(W,; » W,). 3

(2-08/8) 1.-1745 - PT.O



~

Show that the set {(1.7. 0). (27, 1, 13, (0. 1+i. i—i)isa

2

basis of Vi(C).

Prove that necessary and sufficient condition for a

vector space V(I) 1o be a direct sum of its subspaces

Wirand Wy are (iy V = W, = W, (ii) W, W, =

|79

(07.
Show that the subspace spanned by the vectors
Vy=(1 2, 1), V, = (1, 2, 3) and the subspace
spanned by the vectors W, = (0. 0. 1) and W, =
(1. 2. °5) are identical. 2

" Unit 1

T UF) - V(F)is a LT, show that N(T) is a
subspace of U(F). 3
Finda LTT : R3 — R* where null space 1s generated

by (0. 1, =3), (0, -3. 4). 2

Prove that dual space V* of a n-dimensional vector

space V(F) is also n-dimensional. 2

Let f be a linear functional on R? defined by A2. 1)
=153 and A1, ~2) = ~10. Find : 2
Flxy)V(x. y)eR?.

2

Unit 11

6. (a) If the matrix of a L.T.T. on R3 relative 10 the
ordered basis B = {(1. 0, 0), (0, 1. 0). (0, 0, D)} is
S0
; N c_ |o_ M find the matrix of T relative to the
LTt L
basis B" = {(0. 1, -1), (-1, 1, 0). (1, -1, Dy 3

(b) Find the co-ordiantes of the vector v = (1, 0. 1)
relative to the basis Y, = (1. 1. 2), Y, = (2. 2. 1.
Yz = (1. 2. 2). , 2

7. (a) IfTisaninvertible operator and  is an eigen value of

1. then prove 27! is an eigen value of T-1, 3
() Let T : R¥(R) - RYR) be a L.T. Ty o2) =
(Zy—r. x+ytz, 22) find the characteristic and minimal
polynomial for T. 2

Unit IV
8. (@ Let V(F) be a inner product space. If w, v € V s.t.
. show that » and v are linearly
dependent. 3
(b)  Obtain the orthonormal basis wrt. the standard
inner product for the subspace of R3 generated by
(1. 0. 1), (1. 0. 1) and (0. 3, 4). 2
(2-08/9) 1.-1745 3 P.T.0O.




(b)
8. (a)
(b)
9. (a)
(b)

L-1746

If R is the maximum range on an inclined plane
through the projection of a particle and T the

. . R J R
corresponding time of {light. show that R=-g¢T".

o

Unit IV

Find the differential equation of central orbit in
pedal form. 2%
If a particle is projected from an apse at a
distance ‘a’ with velocity from infinity, under the
action of central force my~7, prove that the orbit is

2 = g®cos 26. 3

A particle moves in a plane under a central force
which varies inversely as the square of the distance
from the fixed point. Find the orbit. 2%

A particle moves on a smooth sphere under
forces except the pressure of the surface, show that
its path is given by the equation cot 0 = cot p cos ¢.

where © and ¢ are its angular co-ordinates. 3

4 4,500

RO NO. coirievceinrencrneenens

GSQ/M-18 1746
DYNAMICS
BM-363

Total Pages : 04

Time : Three Hours] [Maximum Marks : 27

Note : Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory.
Compulsory Question

1. (a) Define Radial and Transverse Velocities. 1
(b) State and prove Newton's second law of motion. 1

(¢} Tind the uniform force that will move 1 kg. mass
from rest through 1 metre in 1 second. 1§73

(d) Define time of flight and horizontal range of a
projectile. | 1

(¢) Define Apse and Apsidal distances. 1

Unit 1

2. (a) A particle moves along a circle r =24cos0 In such
a way that its acceleration towards the origin is

always zero. Prove that : 2%

(2-08/10) -1746 v P.T.O.



(b)

1L-1746

A ship is sailing due west and the apparent direction
ol the wind as shown by the fluttering of the flag
on the mast is from the north. The wind is known
to be blowing from a point 30° east of north. Show

that its velocity is double that of the ship. 3

A particle moving with SHM of period 12 seconds
travels 10 ems. from the position of rest in 2 secs.
Find the amplitude. the maximum velocity and the
velocity at the end of 2 seconds. 2%
Prove that the work done against the tension in
stretching a light elastic string is equal to the product
of its extension and the mean of the initial and

final tensions. 3
Unit 11

An engine and the train weigh 200 tons and the
engine exert a full of 3% tons. The resistance to the
motion of train 1s 14 1bs. wt. per ton. Find the time
the train will take to acquire a velocity of 30 m.p.h.
from rest. 2
A bucket of water weighing 160 Ibs. is being raised
from a well 100 ft. deep with a uniform force of
200 Ibs. wt. With what acceleration will it move
and what time does it take to reach the top of the

well. 3

o) together by a string
2
(b d to.shide down a

norest at a depth

N,
prone that it wiil teave the circle at a distance M

2%

k) A ; to the vertex of a
snooth eyveinid whose avis is vertical and vertex

3

ohtz and ¢, 1" the
aths show that

(2-08/ 1] ,-1" 46

Ld

P.T.O.



(b)
7. (a)
(b)
8. (a)
(b)
9. (a)
(b)
L-1763

Prove that an analytic function with constant

modulus is constant. 4

Show that u(x,y)=e " (xsiny—-ycosy) s
harmonic and find v(x, y) such that f(z)=u+iv is
analytic. 4

If f(z)=u+iv is an analytic function of z, find

f(z) if :I<H?|%Kkm+?€+%wv. 4
Section IV
, L :
Show that the transformation W=~ maps a circle

in z-plane to a circle in w-plane or to a straight line
if the circle in z-plane passes through the origin.4
Find the bilinear transformation which maps the
points z = 1, i, —1 into the points w-= i, 0, —i.

Hence find the image of |7 <1. 4

Find the image of regions inside and outise the unit

iz+1
z4+i

circle under the transformation W= 4

Find the Mobius transformation which maps

R(z) 2 0 into the unit circle [w]<

4 : 15,500

- Note * Attempt Five g

ROV NG, vororcvrnmieonriviranirne Total Pages : 04

GSD/4-18 1763
REAL AND COMPLEX ANALYSIS

TA361

e

Tie : Three Hours] [Maxionm Marks @ 40

E%u i oall selecting at least one

question from each Sectice € No. 1 is compulsory.

Compulsery Ulaostea

1. (a) Evaluate : 2

{(by  Change the order of irtegration of : 2

(¢) Find the Fourier co-cfficient 4, for the function : 2
oo 1
flxy=x in m& iy ,

s

(d) Find the invariami points of the Mobius

transformation - 2
1y h!...
(2-09/9) 1.-1763 ) P.T.0.



(b)

3. (a

(b)
4. (@
1-1763

Section 1

Prove that = ¢+ log y+xyz, v=logf+e’ +xpz
are not functions''v dependent. : . 4

Prove that : 4

LS i

(n)
Aa+xvs§ a"(1+a)” _,A§+:v

Evaluate ._;.-.._,m?m +.,<J&x@% where : 4
v

<n?xu\<“mv.nmmNMwukN +\<N MHW
Evaluate : | : 4

.5. ».+‘<+N+CN dxdydz
R

where R is the region defined by

x20,y20,220,x+y+2z<1.

Section IT

Find the Fourier series expansion of f(x)= xsinx

in [-m,7]. 4

(b) Find the Fourier series ‘expansion for the
function : 4
X+
——, —m<x<{)
2
T—x _
f(x)=+ . O<x<m
. 2 :
0, x=0fx
+5. (&) Obtain Fourier series for the function * 4
1) X, 0<x<l
xX)=
: imfav, 1<gx<2
(b) . Find the half range cosine series for f(x)= x? - L
in (0, m). Also deduce that : 4
RS S
FrETE T =33

Section {11
6. (a) Show that the function

2.5 .
Xy (x+iy)

X +.<5

Ny
H
<

=0, =0

8y

is continuous and that C-R equations are satisfiedr

at the origin, yet £'(0) “does not exist. 4

(-0910)L-1763 - 3 PY.O.



(b)

(b)

1-17¢4

If 32} tgereiennns 2, ) 1S A1 orthonormal basis of an
inner product space V and # € V be arbitary, then

the co-ordinates of u relative to the basis {;} are

02 i 2
<u, u>-and :::xM_AFSV_ ) 4
i=1

Let f be a linear functional on a finite dimensional
inner product space V(F). Then there exists a unique
vector v € V such that f(u) = <u, v>forallu € V.

4
Let T be a linear operator on a unitary space V(C).
Prove that T = 0 iff <T(a), o> =0 for all & € V.

4

4 15,500

ROIENO. coveerviteeinrnrnnnnee Total Pages : 04

GSQ/M-18 1764
LINEAR AGLEBRA
BM-362

[ime : Three Hours] [Maximum Marks : 40

Note : Attempt Five @cwmao:u.m: all. selecting one question

from each Unit. Q. No. 1 is compulsory.

(Compulsory Question)

1. (a) -Define basis of a ,\moﬁ.oﬂ-mmumnw. 1Y
(b) The union of two subspaces of a vector-space V(F)
may not be a subspace of V(IF), give example. 2

(c) State Rank-Nullity theoiem. 12

(d) Find the norm of the vector u = (2, -3, 6) and
normalize this vector. 1%

(¢) Define orthogonal compliment of a subspace W

of V. . | 7]

Tnit 1

2. (a A necessary and sufficient condition for a non-
empty subset W of a vector space V(F) to be a
subspace of V is that W is closed under addition

and scalar muluplication. 4

3-971NHL-1764 P.T.O.



(b) Find the basis and dimension of the sub-space W Unit I
generated by the set of vectors

6. (3 IfT,:U—->VandT,:V — W are two invertible
S={( =L 1), ®8. 42), (@2 2,0, (3. 9.-3)} of

linear transformations, then T,T, is also invertible

R3. Also extend this basis to get a basis of R3. 4 and (T,T, 1} = T,-'T,". 4
3. (a) IfS is linearly independent and V ¢ < S >, then . (b) If the matrix of a linear operator T on R relative to
the set S U {V} is linearly independent. 4 1 -
(b) If W is a subspace of a vector sapce V(F) and the standard basis is ﬂ!_ 1 1 |, then find the
u, ' e Vthen W+u=W+ ' iff u - u' e W. _rvH -1 ;
4 matrix of T relative to the basis B' {(1, 2, 2), C.v 1,2),
(1,2, ). . 4

Unit II
7. (a) LetX =(1, 2, 1) be relative to standard basis. Find

4. (@ Let T : U — V be a linear transformation. its co-ordinates relative to basis {(1, 1, 0), (1, 0, 1.

Then U/ker T=T(U). 4 (1, 1, 1)} using change of basis matrix (Transition

(b) Find a linear transformation T : R3 — R3 whose matrix). ‘ 4
range space is spanned by the vectors (1, 2, 3), (b) LetT :V — V be a linear transformation. Then

(4, 5, 6). 4 L €I is an eigen value of T iff T — Al is singular.
Also, the eigen space of A is the kernal of T-AL

5. (a) Show that the transformation T : R? — R2? defined 4

by T(x, X,, x;3) = (¥, X,) is a linear transformation
and is onto but not one to one. 4 Unit 1V
(b) Letu; =(1, 1), u, = (0, 1) be a basis of R2 Let

i . u 8. (@ Let W be a subspace of an innear product space
T : R2 -5 R be the linear transformation for which

. s ad T » Pind the V(E). If {wy, woooe , w,} is a basis of W, then
= a ) o= 2. the linear -

(uy) n (uy) n 1 w e Wi itf <w, w>=0,1<i<n 4

transformation T. 4

L-1764 2 (3-07/15)L.-1764 3 P.T.O.
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GSQ/M-18 - 1765
UM\ZFPV\:Gm
BM-363
Time : Three Hours] [Maximum Marks : p.o

Note : Attempt Five questions-in all, selecting at least one

s

question from each Unit. Q. No. 9 is compulsory.
UnitI

1. (a) A particle is moving along a circle » = 2a sin 8 is

such a way that its acceleration towards the origin

is always zero. Show that the transverse acceleration

varies as the fifth power of sec 6. 4
(b) Prove that if tangential and normal acceleration of
a particle describing a plane curve be constant
throughout the motion, the angle y through which
the direction of motion turns is given by

v = A log[l + Br]. 4

(3-07/16).-1765 P.T.O.



(a)

(b)

(2)

(b)

L-1765

Two particles A and B are moving along the co-
centric circles of radii 2 m and 8 m respectively
with constant angular velocities of 4 radian per sec.
and 2 radian per sec. Obtain their relative
acceleration when their angular distance apart is
27
3
A particle starting from rest and executing S.H.M.

4

of period 12 seconds travels 10 inches in 2 seconds.
Find the amplitude, maximum velocity and the

velocity at the end of 2 seconds. 4

Unit .11

Prove that the shortest time from rest to rest in

which a steady load P tons can lift a weight W ton

2hP

and through a vertical distance 4 ft is g(P-W)

seconds. _ 4

If the string of an Atwood’s machine can bear a

1
stain of only 1 of the sum of two weights. Show

.. 8
that the least possible acceleration 1s ﬂ 4

(a)

(b)

(a)

(b)

(3-07/17).-1765 3

A locomotive engine draws a load of m 1bs up an incline
of a to the horizone. the co-efficient of friction being p.
If starting from rest and moving with uniform
acceleration it nequires n velocity v in 7 seconds. Show

that average H.P. at which the engine has worked is

v r<t+ cosqoL +sino
1100l g " : 4

A mass of 10 kg falls freely a distance of 10 m
from rest and is then brought to rest after penetrating
through 1 m in sand. Find the average force exerted

by the sand on it. : 4

Unit 111

A cricket ball thrown from a height of 6 ft at an
angle of 30° to the horizon with a speed of
60 ft/sec. is caught by another field man at a height
2 ft from the mSc:P How far apart were the two
men ? 4
The angular elevation of an enemy’s position on a
hill /4 feet high is 3. Show that in order to shell it,

the initial velocity of the projectile must not be less

than /\ gh(1+cosecB). : 4

P.T.O.



6. The base of a rough cycloidal arc is horizontal and its
vertex downwards. A bend slides along its starting from

rest at the clasp and coming to rest at vertex. Show that

nleht =1, 4
Unit IV
7. (a) Prove that the orbjt produced by a central force is
a plane curve, 4
H

,AS A particle describes an ellipse under force 5 and
,

has a velocity v at a distance from the centre of

a force. Show that its time period is

. =37
ﬁw P2

v

[\
A

E

~ o

=

——

_
i

<

8. (a) Prove that the time taken by earth to travel half its
orbit remote from the sun separated by minor axis
is two days more than half the year the eccentricity

N
of orbit being 60" 4
(b) Ifv, and v, are maximum and minimum velocities
of a planet, then prove that (I-eyw, =@+ ey, for

an elliptic path. - 4

1.-1765 4

Unit V
(Compulsory Question)
. oving in a
tion of a point m
(a) Prove that accelerati | w
sl 2. - 2
curve with uniform speed is P a

9.

aw. Newton’s First Law of Motion.

(b) Define Hooke’s L 2

‘ab ing with
(c) The maximum velocity of 2 body moving
n N

1
S.HM. is 2 and its period is 35

bit.
(d) Define Central Force and Central Orb1

15,500

(3-07/18)L-1765

_Find its amplitude.
2

2
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GSQ/M-18 . 1770
PHYSICS
Paper XI
Solid State and Nano Physics
Time : Three Hours] [Maximum Marks : 40
Note : Attempt Five questions in all, -selecting at least one

1. (a)
(b)
(¢)
(d)
2. (a)

question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks. "Non-programmable

calculator is allowed.

.

Lattice constant of a cubic lattice is *a’. Determine
the spacing between (112) and (100) planes. )
Define the concept of X-ray diffraction. 2
Diffcrentiate  between type 1 and type 1I
superconductors. 2
State the principle of scanning electron microscope.

2
Umi 1

Explain cJ‘ﬂmSEsa and glassy materials. Write their

properties. : 3

(3-08/7) [-1774¢ P.T.O.

-



(b)

(b)

(b)

(b)
fc)

L-1770

Differentiate between amorphous and crystallihe
solids. 3
Find the Miller indices for a plane. which intercepts

the a, b and ¢ axes at 3q, 2bh and 3c. 2

What do you mean by symmetry operations ?

Describe the principle of symmetrv operations

applicable to a three dimensional lattice, 4

Explain diamond structure and show that it is having

loose packing structure. 4
Unit I1

Explain reciprocal lattice. Derive the expression for
the primitive translation vectors of the reciprocal
vectors. . 4
Describe the rotating crystal method and powder
method used in X-ray diffraction. 4

Write the reciprocal lattice to a simple cubic lattice
and show that the reciprocal lattice is itself a simple
cubic lattice with lattice constant W“ where ‘a’ is
the side of the cube. “

Explain the concept of K-space.

W W

The spacing between the planes of NaCl crystal is
2.82 x 10719 metre. The first order Bragg’s reflection
occurs at an angle of 30° Find the wavelength of

X-rays. 2

6. (a)
(b)
7. (a)
(h)
8. (a)
(b)
9. (a)
(b)

Unit III

Explain Meissner effect. Prove that Meissner effect
and state of zero resistivity are mutually independent
to each other 4
Explain Pippard’s theory. Prove that the coherence
length reduces due to the presence of impurities,in

a superconductor. 4

What is Josephson effect ? Describe d.c. and a.c.
Josephson ettects. 4
Discuss the mwc:ommo.pm and limitations of the

superconductors. 4
Unit IV

What is Nanotechnology ? Explain the siz
dependeuce of particles in detail. 4
Discuss the tools for the synthesis of nanostructures.

4

Explain carbon fullerene, its synthesis and
purification. 4

Discuss the different fields in which nanotechnology

is used. 4

(3-08/8) L-1779 3 15,300
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GSQ/M-18 1771
"PHYSICS
Paper XI
Ph-602 (ii)
Solid State and Nano-Physics

Time : Three Hours] [Maximum Marks : 45

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. .No. 1 is compulsory. Non-

programmable scientific calculator is allowed.

(Compuisory Question)
1. (a) What is Wigner Sietz Primitive Cell ? 2
(b)  What are Miller indices of a plane ? 2
(c) What are Superconductors ? Write its fwo
applications. 2%
(d) What are carbon nanotubes ? Explain. 2%
Unit I

2. (a) What do you mean by a lattice, basis, unit cell and
primitive cell ? Discuss the Bravais lattices for a

two-dimensional lattice. 6
{3-14/5) 1.-3771 P.T.0O.



L-17

(b)  Explain-the crystal structure of diamond. Calculate
its packing fraction and show that it has a
comparatively loose packing. 3

Discuss sc, bee and fee structures in brief. Explain the
various characteristics of the cubic crystals. (cubic unit
all). 9

Unit 11

(@)  Describe the various methods for crystal structure
determined by X-ray diffraction. 7
(b) What wavelengths in a beam ooEmEEw the range
02 A to 1.0 A will be reflected, when incident at
9° upon the cube face of a rocksalt crystal ? Given
d= 2814 A. 2

(@) What do you mean by reciprocal lattice 2 Show
that the reciprocal lattice of a bee is fec. 6
(b)  Prove that in a cubic crystal the direction [hkl] is

{pd

perpendicular to the plane [hkI].
Unit 111

(a)  Explain  London theory in  context of
mcnmqocsm:on,\:%. Derive the expressions for Londen
equations. 6

(b)  Discuss critical magnetic field in type 1 and type i

superconductoers. -3

[

71

-

av
(b)

(b)

{a)

N

(b)

7. Write short notes on the following :

W

Tvpe I and Type U superconductors

Meissner effect. 4

Unit IV

Give the definition of Nano-technology. Discuss the

nano-scale and its importance. A 4
Write a note on TEM. 5

What is molecular assembler concept ? Explain the
self-assembly and molecular self-assembly. 5
Discuss the applications of nano-technology in the

field of N ano-biotechnology. 4
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GSQ/M-18 1772

PHYSICS-XII
Paper 1I
PH-602
Atomic and Molecular Spectroscopy

Time : Three Hours] [Maximum Marks : 40

Note : Q. No. 1 is compulsory. Attempt Four more questions,
selecting one question from each Unit. All questions
carry equal marks. Non-programmable Scientific

calculator is allowed.

(Compulsory Question)

1. (a) Can a hydrogen atom absorb photon enerey gre ot
than the binding energy of the atom ? 2

(b) Distinguish between weak field and stoag feid
Stark effect. _ _ 2

(c) Give important applications of Raman Fir.ct. 2

(d) What are the major drawbacks of old “uana

Theory ?

(3-14/3) L-1772 : [N



2. (@
~(b)
3. (a)
()
4. (a)
(b)’
5. (a
(b)

L-1772

Unit I

Discuss the effect of nuclear motion on the spectra

" of rudﬁomg .ES atom. 5
Prove that velocity of Hydrogen atom in 1st Bohr’s

orbit is close to 1/137 times the velocity of light.
' 3

What do you understand by space quantization ?
Explain the significance of *magnetic quantum
numbers. How are they related ? 6
An electron is made to collide with a hydrogen
atom in its ground state and excites it to n = 3.
Find the energy gained by hydrogen atom. 2

Unit II

-Discuss the theory of spin orbit interiction and

derive an expression for spin orbit interaction energy

for single valence electron. _ , 6
‘What is the significance of Larmor’s precession
theorem in atomic structure ? 2
Discuss the following : 6

(1) Quantum states of atomic electrons

(ii) Term value

(1) Multiplicity of terms.

Find the values of S, L and J for terms ;VT wm_u

3P, and 3D,. 2

Unit II1

6. Explain spin-orbit. coupling for an electron and for system

of two electrons. Also explain J-J coupling with the help

of vector diagram. 8
7. (a) What is Paulli’s exclusion principle ? Calculate the
possible states for p? electronic configuration.
_ 5
(b) Obtain the spectrum terms of two equivalent
electrons. 3
Unit IV-
8. (a) What is Zeeman Effect ? Explain splitting of D,
and D, lines of sodium in weak magnetic field. 5
(b) Distinguish between anomalous Zeeman effect and
Paschen-back effect. : 3
9. (a) Explain quantization of vibrationa] and rotational
energies of a molecule. . 5
(b) The exciting line in an experiment is 4560 A and
the stoke line is at 5520 A. Calculate the wavelength
of anti-stoke line. _ 3
(3-14/4) 1-1772 3 15,300
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GSQ/M-18 1774
INORGANIC CHEMISTRY
Paper XVIIT .
CH-304

Time : Three Hours] [Maximum Marks : 32

Note : Atterapt Five grestions in all, selecting at least two

questions from each Scction. Q. No. 1 is compulsory.

-

1. (i) Which is stronger base etween 2-methylpyridine

and 4-picolene 7 : 1
(i) What is conjugate ~eid of CH,COOH ? 1
(iiiy Write conjugate base of [Al(H,0)4]*" ion. 1

(iv) How many lron atoms are present in a molecule of

haemoglobin ?
(v) What is function of Ferritin 7
(vi) Name the first meta! olefin complex.
(vil) What is a Fluxontal Ligand ?
(viii) Discuss oxidation m&ﬁam of ‘N and P in

phosphazenes. 1

(3-08/11){ -1774 P.T.O.
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(b)

(b)

(b)

(©)

(b)
(©)

L-1774

Section A

Explain the Dewar-Chatt model of Zeize’s salt. 3
Classify the following métal ions Eﬁ.o hard and soft
acids : 3
Ti3*, Pt+*, Au*, I*, Cet*, Lad*, Ca2" and Th#*.
What are the factors which increase the mBUEQ of
metal alkyl compounds ? 3
Discuss the applications of organotin compounds.
2

What do you mean by symbiosis ? 1

Explain Pearson’s HSAB principle and- its

applications. 3

Which is stronger acid between [Fe(H,0),]** and

[AL(H,0)(]** ion ? . 1

- Discuss bonding in organoaluminium compounds.

2

Complete the following reactions : 3
FeCl, + (CsH;)MgB, —»
ArN,CI + Hg -

CH;HgF + HSO; -

Explain Lux-Flood concept of acids and bases. 2

Which of the following obey EAN rule 2 1
Fe(n — CsHs),, Coy(CO)s(RC=CR).

2

(b)

(b)

©-

(b)

(b)
(©

Section B

What are metalloporphyrins and mention their
importance ? 4

What are silicone elastomer ? Give - their

applications. . 2
Discuss the functioning of haemoglobin. 3
What is Bohr’s effect ? 2
Discuss block-copolymers of ‘polysiloxanes. 1
What is importance of Na-K Pump ? 2
Explain bonding in triphopsphazene. 4
Give the physiology of myoglobin. 2

Discuss silicone fluids and their applications. ' 2

Discuss biological role of Ca2?* ion. 2

(3-08/12)1 -1774 3 11,000
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: GSCG/M-18 1775
CHEMISTRY |

Papes XVII

04

Tnorganic Chemisiry

2
andoy ]
porind
fed

Time : Three Hours] [Maximum Marks : 27

Note : Attempt Five questions in all, selecting at least fwo

questions from each Section.
Secticn A

1. (a) Write down formula of the following : 14
(1)  Bis (Pentacarbonyl mangancse)
(i)  (n-allyl) wicarbonyi cobalt.
(iii) Bis (n’-cyclopentadieny!) hydridorhenium.
(b) Discuss the bonding in organolithium compounds
with -diagram. 1A
(¢) Define EAN rule. Caiculate EAN of iron in
1Ee(COR(C,H . 1%
(d) Give any nwo raethods of preparation of metal-

carbonyl. 1

(3-63/130.-1778 P.T.O.



(b)

(©

3. (a)
(b)

(©)

(b)
©

(b)

©

1-1775

Discuss bonding in Metal-Olefin complexes. 2%
What do- you understand by f-limination in metal
alkyls ,? How can it be avoided. ? 1%
Give  three applications of organo aluminium

compounds. - 1

What is Lux Flood concept of Acids and bases ?

_ 2
Define conjugate acid-base pair. Show that strong
acid HCI has weak conjugate base. 1
Comment on feasibility of the following reactions : 1%
(i) CH,HgOH + HSO;' — CH;HgSO;™! + H,0
(i) CH;HgSO,™' + OH™! - CH;HgOH + SO,

Write any two mvw:ommosm of HSAB principle. 2% .
H,S0, is more acidic than H;PO,. Explain. 1%z

Why BF; is less acidic than BCl; ? Explain. 1%

Section B

What are essential and non-essential elements. 1%
What are Metallo Porphyrins ? What are essential

conditions that a BQ& ion is coordinated with

&
%

porphin ligand ? 2%
Sodium pump is electrogenic in nature. Comment.
1%

6. (a) Discuss briefly role of alkali metal ions in biological
sy stem. 2
(b) What-is Nitrogenase ? What role does it play in
fixation of N, ? - 2
(¢} Carbon monoxide is known to be powerful =
acceptor compared to dioxygen O,. Yet it does not
instantaneously bind strongly to Haemoglobin.
Explain. , : 1%
7. (a) Explain Homomorphic and Heteromorphic 7 system
in triphosphazene. 2
(b) What are Silicones ? How are cyclic silicones
prepared ? . 2
(c) What do you understand by Block and Graft
Copolymers ? _ 1%
8. (@ Why do Polyphosphazene chain prefer cis-trans
conformation to trans-trans conformation ? 12
(b) Explain different types of silicone elastomers with
their uses. 2
(¢) What happens when : . 2
(i)  Silicone is heated with LiAlH,.
(ii) Tri Chlorosilane reacts with benzene.
(-08/10L-1775 3 2,750



(b)

(c)

(b)

(c)

(b)

(c)

1L-1776

How many number of wrmmmw and Components are

present in the following systems

(i)  CaCOs(s) = Ca0(s)+CO,(g)

(i) Rhombic Sulphur in equilibrium  with
Monoclinic Sulphur. 3

Calculate the Degrees of Freedom of Pb-Ag system

at the eutectic point. 1

Differentiate between Ideal and Non-Ideal solutions.

2
10 g of a substance dissolved in 100 g of water
raised its boiling point by 0.98°C. Calculate the
molecular weight of the substance. The molal

elevation constant for water is 0.52°C per molality.

2
State and explain Raoult’s law. 2
Derive the thermodynamically the relation :
DH\ = HA\ X m,
where m is molality of the solution. 3

How can you justify that Osmotic pressure is a
colligative property 7 A
Explain, why equimolar solutions of ¥CI and

glucose do not have the same boiling point. 1%

4 11,000

N R Total Pages: 04
GSO/M-18 1776
PHYSICAL CHEMISTRY
Paper XIX
CH-305
(Theory)

Time : Three Hours] [Maximum Marks : 32

Note : Aftempt Five questions i all. selecting- at. least fwo
. questions from each Section. Q. No. 1 is compulsory.
Use of Log-table and Non-programming calculator 1s

allowed.

(Compulsory Question)

1. (a) What is the significance of Partition Function of a
system in Statistical Thermodynamics 7 2

(b) Define Stark-Einstein’s law of photochemical
equivalence. 1

(¢) What do,you mean by ‘Quantum Yield® of

photochemical reactions ? : 1

(d) What is ‘Eutectic Mixture’ 7~ V 1

(¢) How are w?mamwr, univariant and non-variant
systems represented in a phase diagram ? 1

(f) Define Osmiuc Pressure. 1
(3-08/15)L-1776 S  PTO.



(2)

(b)

(o)

(©)

(b

L-1776

What is the difference between Molarity and

Molality of a solution ? 1

Section A

For the photochemical reaction A — B. 1.0 x 10-5

moles of B are formed on absorption of 6.0 x 107

‘ergs at 3600 A. Calculate the quantum efficiency of

the reaction. 3
Differentiate the following : 3
(1) Fluorescence and Phosphorescence

/

(11)  Internal Conversion and Intersystem Crossing.

Explain the term *Photosensitization’ by giving three
suitable examples. -3
Calculate e value of an Einstein of energy in electron
volts for radiation of frequency 3 x 101381, 13

State and explain Grotthus-Draper law. 14

Show that complete partition function for a system
is given ,3 the product of translational, rotational,
vibrational and electronic partition functions. 3
Derive an expression for translational partition

function of a particle. 3

(b)

(b)

(c)

(a)

Maximizing the thermodynamic probability of a
mmacrostate and using the method of Langrange’s
undermined multiplies, derive the expression for

Maxwell-Boltzmann distribution law in the form

p = g om0B

i 14

;
i

09

where the symbols have their usual meanings. 4
What is Statistical Mechanics ? Why there was a

need for the branch of Statistical Mechanics 7 2

Section B

Calculate the total number of variables for a
heterogeneous system consisting of C components
distributed among P phases. 2
Ammonium chloride is heated in a closed vessel;
the system can be either a one component system
or a two component system. Explain. 1A
With the help of a diagram, expiain the application
of Phase Rule in the extraction of pure lead from

argentiferous lead. 2%

Draw a well labelled phase diagram of water system.
What do you interprete from the slope of the melting

point curve ? 3

(3-08/76)L-1776 3 P.T.O.
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GSQ/M-18 1777
PHYSICAL CHEMISTRY -
Paper-XIX
CH-305
Time : Three Hours] [Maximum Marks : 26

Note : 3883 Five questions in all, selectihg at least fwo

questions from each Section.

Section A

1. (a) Briefly explain Franck-Condon principle. 3
(b) In the electronic band spectrum, which transition
out of n —» 7* and © — n* will give greater

intensity and why ? What happens if .an acid is

present ? 1%

A.oV In the electronic band spectrum, why there are no
simple selection rules for transition among

vibrational levels ? : 1

2. (a) What do you ::moaﬁmsa by Quantum yield of a
photochemical reaction ? What are the causes of

high or low @:m:,EE yield ? 3

3-09/1) L-1777 P.T.O.



(b)

3. (a)

(b)

(b)

L-1777

State and explain law of photochemical equivalence.

How are the discrepancies between the Einstein’s

law and Experimental results explained. 2

Calculate the value of wavelengih of light if the
value of one¢ Einstein 1s 90 kcal. 2

Discuss the salient features observed in electronic

spectrum of a Diatomic molecule. 3

Write explanatory notes on Grotthus-Draper law
and Lambert-Bear’s law. * - 3
What do you understand by Chemiluminescence ?

Give two examples. 2

Section B

Define ‘Osmotic Pressure’. How is it determined
by Berkeley and Hartley’s method ? 3
Calculate the freezing point of a solution containing
0.520 g of glucose (CcH;,Og) in 80.2 g of water
(Kf for water = 1.86 Km™). 2

Derive from thermodynamic considerations the
relation between elevation in boiling point and

molecular weight of non-volatile solute. 3

(b)

Explain, why do we observe abnormal molecular
masses of solute in certain cases when determined

by colligative properties ? 2

Draw a well labelled phase diagram of water system
and discuss its salient features. 2%
State and explain what is meant by the term phase,
component and degree of freedom. How are they

related ? 2%

Mention three characteristics of ideal solutions. What
causes deviations from ideal behaviour ? Discuss
positive deviation and negative deviation from ideal
behaviour for liquid pairs. 3%

Deduce thermodynamically the Phase rule equation.
2

(3-09/2) L-1777 3 2,750



(b)
()

(b)

(c)

L-1778

Describe the secondary structure of proteins.

Give evidance to support dipolar structure of
o-amino acid. 3+1%+10

What are polyesters and polvamides ? Name the

“type of polymerisation envolved. Give one example

of each with preparation and uses.

Give the preparation and uses of : 4+2

(i) Buna-S

(i1) Neoprene.

Write & short note on natural and synthetic rubber.
Give the preparation and uses of phenol
formaldehyde polymer.

What is denaturation of protein. 3+2+1

4 11,000
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Time : Three Hours]

Note :

Total Pages : 04

GSQ/M-18 1778
ORGANIC CHEMISTRY
Paper XX

CH-306

[Maximum Marks : 32

Attempt Five questions in all, selecting fwo questions

from each Section. Q. No. 1 is compulsory.

1.  Attempt any four of the following :

(2 How will you explain the acidic nature of methylonic
hydrogen in diethyl malonate.
(b) Pyrrole is acidic in nature. Explain.
(¢) Describe Gabriel phalimide synthesis of a-amino
acid.
(d)y What are differences between RNA and DNA ?
(e) [Explain  Lieglir-Natta  polymerisation  with
mechanism. v 2x4
Section A
2. (a; Explain the formation of ethylaceto-acetate from
ethylacetate and sodium ethoxide with mechanism.
(3-09/3) 1-1778 P.T.O.



(b)

(c)

(b)
(©)

(b)

1L-1778

Write down the synthesis of succinic acid and

n-butyric acid from diethyl malonate.

Describe the factors affecting the relative amount

of Keto and enol form in Keto-enol tautomerism.

2x3

Give the synthesis of the following from
ethylacetoacetate :

(i)  3-methyl-2-pentanone

(ii) n-valeric acid.

Explain Chickibabin reaction with mechanism.
Compare the m.woBm&o character of furan, thiophene

and pyrrole. 3+1%+1Y%:

Explain :

(i) Electrophilic substitution of pyridine lakes
place with difficulty, when it does, it takes
place at 3-position.

(ii))  Electrophilic mccmaamos_mz indole takes place
at 3-position of heterogele ring.

Explain :

(i)  Parr-Knorr synthesis of furan derivatives.

(i) - The mechanism of Fischer indole synthesis.

2x3

5. (a) Compare the basic character of pyridine, piperidine
and pyrrole.
(b) What happen when ?
(i) Indole treated in Sn/HCI.
(i) Quinoline is treated with Br,/Ag,SO,.
(iif) Isoquinoline is treated with NaNH, in lig.
NH;.
(iv) Quinolene treated with alk. KMnO,.
(c) Why does Pyridine give nucleophilic substitution
reaction but not benzene ? 2x3
Section B
6. (a) Explain :
(i) - Edman’s method of N-terminal residue
. analysis.
(i) Why amino acid are called amphoteric
compound ?
(b) Discuss the stereochemistry of o-amino acid.
" (c) Describe merrifield solid phase peptide synthesis.
3+1%+H1Y%
7. (a) Explain the following :
(i)  Electrophoresis
(il) Zwitter ion
(iii) Peptide bond.
G094 L1778 3 _ P.T.O.



(c)

8. (a)

(c)

L-1779

Write about different types of stereochemical

arrangentents in polymiers. 2,2.1%

Starting from malonic ester prepare

(1)  Succinic acid

(i1)  Cyclobutane carboxylic acid.

Write briefly about isoelectric point and
electrophoresis in amino acid.

Give one example for each (only name to be given)
of the following types of polymers

(i)  Polyester .

(i) Poly amide

(iil) Phenol-formaldehyde resin. 2,2,1%

4 2,750

ROIING. coovccrerecriricnnnnnnne Total Pages : 04
GSQ/M-18 1779
ORGANIC CHEMISTRY
Paper III

XX-CH-306
Organic Chemistry . (Theory)

Time : Three Hours] [Maximum Marks : 27

Note : Attempt Five questions in all, selecting at ieast two
questions from each Section. All questions carry equal

marks.

Section A

1. (a) Arrange Pyridine, Pyrrole and Piperidine in
increasing order of basic character, with reason.

(b) Write about molecular orbital structure of Pyrrole.

(c) Give a general mechanism of electrophilic

substitution in furan. - 2,2,1%

2. (a) What happens when :

(1)  Quinoline is treated with nitrating mixture

(HNO; + H,S0,]
conc. OOSO.

(i1) Hmoac?o::o is treated with NaNH,, liq. NH;.

(3-69/5) 1.-1779 P.T.O.



(b)

(c)

(b)
(©

(a)

(b)

L-1779

Sketch the following reaction and give its

(i @ S— Cii, H,0,(excess).
or KMnO, -

mechanism : ]
. @ + NaNH, w@w K (c) Comment upon R_maé. aromatic character of Pyrrol,
' N. Thiophene and Furan. 2,2,1%
2&8 the equations of acetonyl acetone reaction
with : Section B
() NH, |
Gi) P,0 5. (a) How the ethylacetoacetate be prepared ?
(i) PS,. 22.1% (b) Starting from ethylacetoacetate prepare :
(1)  n-Valeric acid
Complete the equations : (i)  Acetyl acetone.
@) 2C,HSH NNW_WMWHN ZnS {c) Of the exolate ion obtained from acetone and diethyl
. malonate which is more stable and why ? 2,2,1%
(i), (C,Hs),S + Br, —.
Give the preparation of m:wmrmmzmsﬁmna._ 6. (a) Convert diethyl malonate to a-amino acid by curtius
Write the IUPAC name of : : reaction. .
(i) - Diethyl sulphide (b) Write about classical peptide synthesis.
( w_c - Cyclohexyl mercapton (c) Compare fibrous and globular proteins.  2,2,1%
(1i1) Iso-propyl mercapton. 2,2,1% ] .
. : 7. (a) Ilustrate different steps of free radical vinyl
Convert : polymerisation.
(i) Ethanol to Ethanethiol (b) Write the methods of vqavmgaoz and uses of :
(i) Ethyl iodide to Diethylthioether. (i) Tetlon
Complete the equations : (i)  Styron
© @! SO,H Bry/FeBr, (iii) Acrilan
. ) (iv) PVC.
2 (3-09/6) 1-1779 3 PT.O.




ROHUNO. ccovvervrerrreriannn, Total Pages : 02
GSQ/M-18 1782
BOTANY
Paper 1

Biochemistry & Plant Biotechnology

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

(b)
(c)

b

Attempt fwo questions from each Unijt, All questions

carry equal marks.

(Compulsory Question)

Who proposed the [nduced Fit Theory.

Define Antiauxins.

Name the hormone associated with cell division.
Give composition of fat.

Define cellular totipotency.

What is @ basal medinm ?

What are restriction endonucleasa enzymes

Cryopreservation. I #8=K

Section A

Hen copstant in .

2D TR , G,

3. Write notes on the following :
(@) Enzyme Inhibition
(b)  Physiological effects of Cytokinin. 4+4=8
4. Write notes on the following :
(a) Ethylene hormone (b) Bolting. 4x2=8
5. Explain the synthesis of glycerol and fatty acids in plants.
8
Section B
6. Describe the Biochemistry of Nitrogen fixation in
leguminous plants. 8
7.  Write notes on the following :
(@)  Symbiotic Nitrogen fixation in legumes
(b) Nitrification. - 6+2=38
8. Discuss the various methods of gene transfer in plants. 8
9. Discuss the following :
(a)  Methods of protoplast isolation
(b) Plasmids. 4x2=8
1-1782 2 3,168



Reill Ma,

Total Pages : 02
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BOTANY

Time : Three Hor urs. [Maximum M 40
i 1 farks 1 40

Note : Atiernnt Fiv
Nsote (ernpt Five oy lecti
ot £ questions in all, selecting fwo questions

rom cach Unit, O No. 1 i
- INO. ¥ 1s-compulsory. All questions

L. Answer the foliowing

::.
wnat 18 ths morphologica; nat i
the morphological nature of spice clove ?

b o

wWhich stars of

indiz contributes <l 1]
2 contributes maximum in Jute

¢l Oive botanical name of sunflower,

(dj Name the centre of origin of potato

(e} Define wood seasoning |

' Vhat are Beverages 7

(g} What are Cereajs

What is the name of branch of science that deais

with: study of drug plants ? 1x§

;ﬁ,ﬁ.mw o] 52

P.T.C.

——

Unit1

2. Give a concise account of origin, botanical description,

cultivation and uses of Maize. 8

3.  Write short notes on the following :
{a) Onion (b) Pea. 4+4

4. Briefly describe origin, distribution, cultivation and uses

of groundnut. 8

5. Give botanical names and uses of the following :

(a) Cotton (b) Mustard
(¢) Gram . (d) Wheat. 2424242
Unit I1

6. What are Beverages ? Describe cultivation and processing

of Coffee. 8

7. Name the plant part used and uses of the following :
(a) Atropa (b) Ginger
(¢) Herca (d) Sugarcane.

8. Write short notes on the following :

(a) Cinchona (b) Cannabis. - 4+4

9. Write in brief on the following :
(a) Bio-fuels (b) Sources of Timber. 4+4

L-1783 - 2 3,100
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GSQ/M-18 1784
ZOOLOGY
- Paper 1

Aquaculture and Pest Management-]
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least mwo
questions from each Section A and B, Q. No. 1 is

- compulsory. Support your answer with neat and labelled
diagrams wherever required.

1. Explain the following in about 20 words each :

(a) Pest (b) EEZ

(c) Polyculture (d) Dinghi _

(¢) Gill net (f) Capture fisheries
(2) .Zo:ovrwmo:m (h) Honey dew

(1)  Ratoon crop

() Zoological name of Gurdaspur Borer. 1.5x10=15

Section A

2. What is a riverine fishery ? Enlist the riverine systems in

India. Describe one of these in detail. 0.25

(2-10/1) 1.-1784 : | P.T.O

3. What are fishing crafts ? Describe various types of fishing
cra‘ts in detail. , 6.25
4.  Writ¢ notes on the following :
(a) World Fish Production
(b)  Crustacean Culture. ; 3+3.25=6.25
5. Write notes on the following :
(a) Induced breeding
(b) Cold water fisheries. 3.25+3=6.25
Section B
6. Explain the systematic position, habits, nature of damage,
life-cycle and control of wheat stem borer. 6.25
7. Discuss the nature of damage caused and habits of the
following pests :
(a) Rice stem borer
(b) The pumpkin fruit fly. , 3+3.25=6.25
8. Give the systematic position of the following pests :
(a) The red pumpkin beetle (b) Cotton jassid
(¢) Gundhi bug (d) Sugarcane top borer.
1.5+1.5+1.5+1.75=6.25
9. Write notes on the damage causing stage and control of
the following pests :
(a) Sugarcane white fly {b) Pink bolloworm
(c) The vegetabie mite. 2+2+2.25=6.28
£-1784 2 3,000
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GSQ/M-18 1785

Z00LOGY
Paper 11

Aquaculture and Pest Management-11

Time : Three Hours]

Note :

(b)
(c)
(d)
(e)
(H)
(2)
(h)

4. (4

[Maximum Marks : 40

Q. No. 1 is compulsory. Answer to each part should
not exceed 20 words. Attempt Four questions selecting
two questions from each Section. So total questions to

be attempted are five including Q. No. 1.

Define Hypophysation.

Define everyphagic fishes.

Explain the term RAS.

What is pharmacopoeia ? Give its significance.
Write systematic position of Rice Weevil ?
What is the source of Pyrethrum ?

Name two rodent pests.

What is zoological name of ‘Dhora’ ? 1x8=8

Section A

Dieseribe the various natural fish seed resources. 5

qal breeding of {ishes 3

P DE

(a) What 1s fish feed ? Explain natural and artificial
fish feed.
(b)  Write a note on pelleting.

W W

(a) What is recvcled water culture ? What are its

advantages ? 4

(b) Write a note on polyculture. 4

(a) Explain the management of fishery. 6

(b) How fishes and their products should be

marketed ? 2
Section B

(@) Explain the life-cycle and control of Sitophilus
Oryzae. 6
(b) What is the damage causing stage of Tribelium
Castaneum and how can it be controlled 2

3

What is Biological control of Insect pests 7 Write the
requirements, problems and precautions of Biological
contro}. Explain the ratural enemies nszd 1 Rinlogicat

control of msect pests. X

di




Roll No. .uneercricnieinnniene Total Pages : 03

GSQ/M-18 - 1788
ELECTRONICS
Paper 1
Microprocessor Architecture
and Programming-II

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one

.o(a)

(&)

o~
4
M

question from each Unit. Q. No. 1 is compulsory.

What do you understand from vectored and non-
vectored interrupts 7 Explain with exampie. pi
Write BSR control words to first set and then reset
PC, of Port C in PP 825, . 2
If a clock frequency of 2 MHz is applied to 8253
for square wave generation, what will be the time
period of the output waveform if count Joaded in
the selected oozam_m is 10 ? 2
Explain, why each channel in the 8257 DMA
oouﬁo:om 1s restricted to 16K bytes of data transfer.

p

(2-10/5) 1.-1788 P T.O.



(b)

(b)

(b)

(b

1L-1788

Unit I

Discuss in brief programmed, interrupt driven and
DMA data transfer schemes. 6

" Explain the instruction EI and DI. _ 2

Mention different interrupt lines of 8085 ? Discuss
their main features. 6

Write instructions to enable all interrupts of 8085

microprocessor except RST 7.5. 2
Unit 11
Explain control word of PPI 8255. 4

Explain with example how differert ports of PPI
8255 are identified in peripheral (or direct) /O and
memory mapped /O scheme ? What are the different
instructions and control signals used for IO

operations 7 4

Discuss various Output handshake signals gxchanged
between microprocessor and PPI 8255 prior to data
transfer in Mode 1. Write control word and status
word. 6
Write a control word to configure PPI 8255 in
Mode 2, where Port B is used as Output port in
Mode 1. 2

(&)

6. ()
(b)
7. (a)
{0
2. (»
(b)

Unit 111

Discuss the control logic (signals) or programmable
interval timer of 8233. 4
Explain Mode 0 i.e. Interrupt on terminal count of

8253. Where this mode is usefu! ? 4

Discuss how 8253 is used to generate software and
hardware triggered strobe. Draw timing diagrams. 6
Determine the frequency of the output waveform
from the counter, loaded with count 4 of 3253

operated in Mode' 2 and driven by a clock of

I MHz. . 2
Unit IV

Discuss the funciion of c2ch signal of the coafrol

ingic block of 8257 DMA controller. f

What is the function of DRG and DACK signals

of 3257 DMA controller ? 2

9, Design and discuss in detail a microprocessor based

temperature measurement and control syster. 2

(2-30/6; 1-1788 A 1,664
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G5Q/M-18 1789
ELECTRONICS
Paper 11

)

Introduction to C and its Programming

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. selecting at least one

guestion from each Unit. Q. No. 1 is compulsory.

1. (a) What are Identifiers 2 Explain. 1%
(o) What is the purpose of .comma operator ? 1%
(c) List various advantages of an array. 2
(@) Fxplain how single precision constant is writlen
and identified. 2%

Unit &

2. {a) What are keywords in C 7 What restrictions apply
o their use 7 2

(b} What is an escape sequence ? Give its use. 3

{¢} What are unary operators ? How many operands

are associated with a unary operator 7 Explain. 3

3. (a) What is an expression ? What kind of information

is represented by an expression ? 3

(2-10/7) 1L-1789 P.T.0.



(b)

(©)

4. (a)
(b

(c)

(b)

{b)

.’C“

1-1789

Name and explain four basic types of constants in
C. 2
What is conditional operator ? Explain the use of
the conditional operator to form conditional

expression. 3

Unit I1

Explain Printf function with suitable example. How
15 it different from Putchar function. 3
What is the importance of using precedence rule in
the C-cperators ? 2
Explain the meaning and use of cast operator with
the help of suitable example. 3

Explain the following :

(i)  Break statement (ii) Continue statement
(iiy Go to statement. 3
Write a program to find the sum and average of

given seven numbers using do while loop. 5
Unit 11

Explain main components of function definition. 1%
Explain uses of functions. 2%

Write a program to find the sum of five rumbers

‘using function. . 4

(b)
()

(b

(©

What do you mean by formal and actual
arguments ? What is the relation between them ? 4

What is the purpose of return statement ? 2

Explain the meaning of following : 2

()  float f{float a, float b) (i) long f (long a)

(ii1) void f (int a) (iv) char f (void).
Unit IV

Define multidimensional array. How is it

Initialized ? 3
What is Pointer ? What kind of information is
represented by pointer variable ? 3
Describe the array that is defined in the following
statement : 2

()  # define N 50 (i) # define A 66

# define B 132

char memo [A][B]

What i3 the character array ? tow is it different

trom data type array ? 3
How strings are initialized in C 7 What are
commonly used strings in C ? 3

Write an appropriaie declaration for each of the
following :
1} Declere a one-dimensional floating point array

s

using poinier notation
(i)  Declare two pointers whose objects are integer
variable i and j. 2

2-10/8) 11789 3 1,060
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GSQ/M-18 1790
COMPUTER SCIENCE |
Paper I
Relational Data Base Management System

Time : Three Hours] [Maximum Marks : 40

Note : Attemp? Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory.
(Compulsory Question)

1. (a) Explain division operator of Relational Algebra. 2

(b) Define  functional and fully  functional

dependency. 2

(c) Explain the differences betweer SQL  and

programming languages. . 2

(d) Explain advantages of PL/SQL. 2
VUnit I

2. (a) Explain by using example the coneept of Network
data Model. Also explain its advantages and
disadvantages. 4

(b) Explain the differences between Hierarchical an

network data model. 4

(2-10/9) 1.-1790 P.T.O.



3. (a
(b)
4. (a)
(b)

Explain with example set oriented operators. 4
Discuss the various types of Join. operations with

example. . 4

Unit I

Explain, what is the basic differences between tuple-
oriented and domain oriented relational ‘calculus. 3
What is Normalization ? Why its need arises ?

Expalin with example 2 NF. 5

5. Define and explain Boyce-Codd Normal form. How does

it differs from 2NF ? Why is it considered a stronger
form of 3NF ? 8

Unit ITJ

6. Explain with example the following commands in SQL :

)
(i)

7. (3

(b)

L-1790

ALTER TABLE (ii) SELECT Command
GRANT Command (iv) COMIT Command 8

What is a view in SQL and how is it defined ?
Also explain the advantages of view. 4
What do you mean by constraints ? Explain primary
key constraints, check constraint and foreign key

constraints. 4

8. (@
(b)
9. (a)
(b)

Unit IV

Explain the structure of PL/SQL block. 3
Write the syntax of if-then-elseif statement. Also

explain the use of if-then-elseif statement with the

124}

help of a program of your choice.

- Explain while-loop msm.??_oov statements. 3

Write a program to compute average of n number.
5

(2-10/10)1L-1790 3 3,400
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GSQ/M-18 1792
COMPUTER SCIENCE
Paper 11

Computer Networks
Time : Three Hours] - [Maximum Marks : 40
Note : Attempt Five questions in all, selecting one question

from each Unit in addition to compulsory Q. No. 1. All

questions carry equal marks.

(Compulsory Question)

1. (a) What is Bridge ? Explain its working.
(b) Differentiate between Analogy and Digital Data

Communication.
(z) Write short note on Gigabit Ethernet.

(d) Explain the concept of Load Shedding. 4x2=§
Unit }

2. Explain the difference between OSl and TCP/IP Reference

Mode!. 4 8

(3-09/10)L-1792 P.T.O.

3. Explain some Key design Issues that occur in Computer

Networks. . 8

Unit 11

4. What do you mean by Switching ? Explain the various

switching techniques. 8

5. What is Multiplexing ? Explain various types of

multiplexing. S

Unit III

6. What do you mean by Bluetooth ? Explain its Architecture.
8

7. (a) Write short note on Token Ring ? . 8
(b) Exolain CSMA and CSMA/CD.

Unit IV

8. Explain Traffic mwmwvw:m Congestion Control Algorithm.

8
9. Write short notes on the following : 8
(@) WWW Services \
(o) DNS.
1-1792 2 | 3,400
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GSQ/M-18 1794
COMPUTER APPLICATIONS
Paper 1
Multimedia Tools

Time: Three Hours) | [Maximum Marks : 40

Note : Q. No. 1 is compulsory. Candidates are required to
attempt Five questions in all, selecting one question
from each Unit, in addition to compulsory Q. No. 1.

All questions carry equal marks.

i. (a) What is Edutainment ? 2
(b) Compare briefly JPEG and GIF file formats, 2

(¢) Define Pixel. 1

(d) Write any two advantages of Digital video over
analog video. 1

(e) What is Rotoscoping ? 1

(f) What is video Streaming ? 1

Unit I

2. What is Multimedia ? Discuss its applications in

entertainment and performing arts. 8

(3-09/13) -1794 P.T.O.



3. Write short notes on the following : 8

(@
(b)

(b)

(b)

Multimedia communication devices

Multimedia projects.

Unit I1

What are Postscript, True Type and bitmapped
fonts ? Explain. 4
Differentiate between bitmap and vector graphics.

4

What is the importance of graphics in multimedia ?
Explain briefly. 4
Explain various image capturing methods with

suitable example. . 4

Unit II1

6. What are the attributes of Sound ? Discuss the &m‘o.mgoom

between analog and digital sound. _ 8
7. Write short notes on the following : v 8
{a) Cell animation
(b) Morphing.
L-1794 2

Unit IV

8. What is digital video compression ? Explain briefly various

digital video compression techniques. 8

9. Write short notes on the following : 8
(8 SECAM video standard
(b)  Graphics support in HTML.

(3-09/141.~1794
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GSQ/M-18 1796
COMPUTER APPLICATION
Paper I
Advanced Program Using C++

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. selecting one questivn

from each Unit. Q. No. 1 is compu!sory.

1. (a) Define Pure Virtual Function.
(b) Differentiate Protected and Public Derivations.
(¢) Differentiate Text v/s Binary files.
(d) What is a Template ? 2x4=§

Unit I

2. What is Dynamic Polymorphism ? Explain with an

example of function overriding. b

3. Explain virtual derivation and virtual destructor w:th

example. 8

Unit 11

4. Explain type conversion between objects of different

classes. 8

(3-10/3) 1L.-1796 P.1.0.

6.

8.

Write a program showing three tvpes of Derivations. 8
Unit 111

Explain types of Inheritance and write a program to show

multipath inheritance. 8

“xplain Templates. Write a program to show function

Templates. 8
Unit IV

Explain Opening Files. Write a program to store student
data in a file—— “stud” and then Retrieve the stored data.
8

Explain Exception Handling. Write a program to show

try. throw and catch. 8

1-1796 2 350
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GSQ/M-18 1799
BIOTECHNOLOGY
Paper XIII

Microbial Biotechnology

Time : Three Hours} {Maximum Marks : 40

Note : Attempr Fivs questions in all, selecting fwo questions
from each Unit. Q. No. 1 is compulscry. All guesiions

- gl

carry equal marks.
(Compulsory Question)

1. (a) Whatis importance of enrichment media in isolation

of bacteria ?

by Cuve advantages of continuois fermentation over
baich fermeniation.

) Define solid state fermentation and give its
significance for fermentaiion industry,

(d) MName two fungl knowa to be emploved as
binirsecticides.

{(€)  Name o oreanisms used for SCP production for

human censuaption. 22211

(3-10/7) 1,.i799 | P.T.0O.

Unit I

2. Write short notes on the following : 33,2

(a) Lyophilization
(b) Measurement of dissolved oxygen in a fermenter
(c) Synchronous growth.

3. What are the different methods for preservation of
industrially important microorganism and which method
you think is best for culture collection service and why ?

§

4. Write short notes on the following : 3,3,2
{a) Airlift reactor |
(b) Bubble column reactor
(¢) Methods for cells disintegration.

Unit II

5. Describe the microbial fermentation for grape wine
production. : 8

6. Write short notes on the following : 4,4
(a) Citric acid fermentation
{b) Single Cell Proteins.

z

7. Write short notes on any two of the following : 4,4
(a) Polyhydroxyalkanoates
(b} Biomining _

(c) Secondary waste water freatment.

£~1793 2 900
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GSQ/M-18 - 1840
DIETETICS-II
Course 311
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

TIF THRE WU A W I g, B W W &
SR AT 1 T wem 1 afed € 1wt g %
IF TH T |

Compulsory Question ( 31aTE Wy )

1. Discuss the following : 3+3+2
(a) Differentiate NIDDM and IDDM.
(b) Differentiate Acid ash and Alkali ash diets.
(c) Causes for Nephritis.
frafafes #t gmemEy -
(37) NIDDM den IDDM ¥ =R &IfST |
() ufas T@ o1 Uoshell U@ SMER H 3RR &I |
(|) “%EfE & R0 |

(3-17/3) L-TR-1840 P.T.O.



2.

Unit I 3&TE 1)

Desciibe in detail the dietary and nutritional management
for a Hatient suffering from NIDDM. 8
NIDDM ¥ ufga w& T & fau omer qun d9iwo g

I 1 faRga 9o &g

(a) What is Hypertension ? Describe in detail its various
causes and symptoms.
=9 K WM 9 T 7 39 fafas wRer o agon
w1 fowrR § FolF ST

(b) Suggest different ways to prevent hypertension. 5+3
I WA 99 & EEE FE % IUE SOy |

Explain the nutritional management for coronary heart
disease in detail. 8
TR T I A SR B frw Wy S
HIfST |

Comment on the following : 4+4
(a) Causes and symptoms of coronary heart diseases.
(b) Nutritional management for hypertensive patients.
frafafeg w feault wifsg -

(31) HRAA 8T T &1 R q& A&

(9) =9 W@ W9 g & fow ool ge

{~TR-1840 2

Unit II (313 1I)

(a) What is Acute Renal Failure ? Write its causes.
THE TE eIk ¥ ¥ 7 TEH R0 fafey |
(b) Describe the dietary modifications for Acute Renal

Failure. 4.4
TRE @Fd $OR & fau omr 9fieds &1 avi
EAE L

Define Nephritis. Explain the dietary modifications and

dietary management during Nephritis. 8
TR F 2 AWERY @ <A MER uRadd aen STER
A 1 g ity |

What are Kidney Stones ? How are they formed ? Write
in detail the role of food in the prevention and treatment

of kidney stones. 8
fredt W = € ? 4 B9 oW ® 2 fred =g W

THIY q ITAR W 9E F qfFer w1 fawga 9o
HIT |

Define Cancer. Write in detail the dietary management
for Cancer. 8
S F uferw AT 0 W H AR 1 emR TERA
fafaw | v

(3-17/4) L-TR-1840 3 250
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GSQ/M-18 1840
DIETETICS-II
Course 311

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

ToF TEE W 4 D I TR T, w9 e we @
SR ST | v dewn 1 sfEd ® | 9t oue %
F O T |

Compulsory Question ( 31 ard 9y )

1. Discuss the following : _ 3+3+2
(a) Differentiate NIDDM and IDDM. |
(b) Differentiate Acid ash and Alkali ash diets.
(c) Causes for Nephritis.
fr=fatad =t awemy -
(31) NIDDM @1 IDDM ® =R iy |
(3) e T@ M Ve @ ARR F eRR F |
(9) “%iEf™ & wR |

(3-17/3) L-TR-1840 P.T.O.



2.

Unit I G&E 1)

Desciibe in detail the dietary and nutritional management
for a »satient suffering from NIDDM. 8
NIDDM ® ufgd W& W & fau oTer qen @wor weaeei
vag &1 fagga aoE wifse

(a) What is Hypertension ? Describe in detail its various
causes and symptoms.
I59 T A 9§ 2 He fafee wRo qen qen
w1 fowR | g e |

(b)  Suggest different ways to prevent hypertension. 5+3
Ie9 @ 99 & b w6 % 39 9asy |

Explain the nutritional management for coronary heart
disease in detail. 8
FRAA g5d W 9t st & faw dwor yEeR w5 oavH
HifST | .

Comment on the following : 4+4
(a) Causes and symptoms of coronary heart diseases.
(b) ~ Nutritional management for hypertensive patients.
frafafga w feoft i .

(31) RO &&F T HT HROT Gl A

(9) =a W& WY g W & fa gy ge |

[~-TR-1840 2

Unit I (3&TE 1)

(a) What is Acute Renal Failure ? Write its causes.
THE W %edR N € ? 3@ R fafew |

(b) Describe the dietary modifications for Acute Renal
Failure. : 4.4
TrE e W B fA R WREd w1 ave
FIT |

Define Nephritis. Explain the dietary modifications and
dietary management during Z,%raam. 8
IwrEfeq w1 § 2 AWy F WA SRR 9iEdT 9O SRR
YaE &1 IO FET 1 |

What are Kidney Stones ? How are they formed ? Write
in detail the role of food in the prevention and treatment
of kidney stones. 8
fref @ w1 € 7 4 9 I T ? TRl = #
gmﬁﬁﬂzmﬁuﬂﬁﬂﬁﬁg%
T |

Define Cancer. Write in detail the dietary management
for Cancer. 8
Fa w1 uRwm e | FW % U wm emeR wEes
fofem |

(3-17/4) L-TR-1840 3 250
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GSQ/M-18 | 1841
TRADITIONAL TEXTILES EMBROIDERIES
AND CONSUMERISM |
Course 312

. Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting two questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks. . ‘

YoF T ¥ ¥ q WA G g, we ot WA #
I T | g g 1 fEr ? 1 udt weeE #
F WA T |

Compulsory Question ( 3tF@T w9 )

1. Write short notes on the following : 4x2=8
(a) Jamdani Sari (b) Chamba Rumal
(c) Greese Absorbants (d) Draperies.
frafafen w dfm foafrl fafe .
(31) SR et () == T
(W) FoE srRivw v (7) 3w |

(3-13/7) L-1841 . P.T.O.



Unit I (3&T8 I)

Explain the details of Chikankari Embroidery. 8
T ek # e Hf |

Write in detail about the history, material, stitches and
molifs used in Kantha of Bengal. 8
e % e A g S A W 2 ol R
a1 3 % 9N ¥ fownyds fafen |

Write short notes on the following : 2%x4=8
(a) Manipuri Embroidery (b) Kasuti Work.
frafafenr w diyw feafml fafew .

(1) =gl w3 (I) wgd wE |

Explain the Bandhini Work of Rajsthan. 8
T & it w1 w gl wifew |

Unit IT (3T 1I)

Explain, how do special finishes enhance the value of
Fabrics ? What influence the consumption of Textiles.
Explain. 8
W@ﬂdﬂdﬂf%@mﬂ&ﬂﬂﬂﬂmﬂ@w ? wugl
H T W YA wE R 2 e Sy |

Define Dry Cleaning. Explain the different methods of
dry cleaning of Fabrics. 8
IR AR (T yEE) & R B | o e
% faftml =1 aofa i |

L-1841 2

8. While purchasing bed linens what steps will vou tale

into consideration ? 8
Je fam wled v oW wm-wm 9 s S W o

U HIfTT |

Write briefly the following : PRS2
(a) Blankets (b) Towels.
frfafen w waw & fafan .
(31) =aa (%) aferg |
(3-13/8) 1-1841 3 250
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GSQ/M-18 1842
ADULTHOOD, GUIDANCE &
COUNSELLING
Course 313
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. Select two questions from
each Unit. Q. No. 9 is compulsory. All questions carry
equal marks.

e U WAl % IW A | TEF TEE § @ arar
Y g | W g 9 sifedd R 1 et g @
FF gAH T |

UnitI(Z&E 1)

1. Discuss the social and vocational development during

young adulthood. 8
TG H T SR A SR # et Wi |

2. What do you understand by midlife crisis ? How adults
in middle age adjust to changes ? 8
SIS e ¥ AT F A € 2 e Wgen §
T IEEE F WY TR WER SRS e ¥ 2

(2-16/3) 1-1842 P.T.O.



3.

Discuss the problems during menopause among women.
Give suggestions for coping and managing menopausal
symptoms. , 8
fordl o waft & eF ol Tremet == wifm
g & el w1 e e R SR frfh w9
foe gem s |

Describe the physical changes in old age. 8
IS H YRIRG Sqemal # e HiT |

Unit IT (3oT§ 1)

What do you understand by guidance and counselling ?
Discuss the need and principles of guidance. 8

e @ wet 4 o9 o= owwer ¥ 7 fewm w1
savgehal aa fagral w1 aui wifg |

Discuss the counselling techniques used with children. 8
sl % AU wgw eR et wme qefel @t e
HIfS |

Write short notes on the following : 8
(1) Strategies of group guidance

(i) Objectives of group guidance.

frefafer = dfra ool fafey

O T R ® b

(i) wF fRwm & g (3R[WE) |

L-1842 2

e

8.

(2-16/4) 1-1842 3

What are the qualifications of a good counselior 7§

e W &1 F Ao ¥ 2
Compulsory Question ( 37Har w7 )

Explain any four briefly : 4x2
(1) ZE,:E Adjustment

(i) Widowhood

(iii) Retirement

(iv) Grandparenthood

(v) Problems of old age

(vi) Characteristics of a counsellor
fFdl o *1 Wi ol #if
() SErfEs wHRRH

(i) Fwm

(i) wenfrafa

(iv) -, TA-TE FT TR
(v) JIEERT & AHEN

(vi) ToEREE ® fadward

L
n
=
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GSQ/M-18 1843
INTERIOR DECORATION
Course 314
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting two questions
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.
TOF TEE Q@ & T T gL, [ U W ® IW

AT | T Tew 1 SfEE € 1 Oy @ o w
TE T

Compulsory Question ( 3tfard wg)

1. Answer the following in 3-4 lines each : 1x8=8
(i) Warm Colours
(ii) What do you mean by functional accessories ?
(i) Mass mﬂm:moama of flowers
(iv) Accessories used in table setting
(v) Folding furniture
(vi) Lighting for Masters' bedroom
(vii) Disadvantages of marbel flooring

(viii) Points to look for in a chair while purchasing it.

(2-16/5) 1-1843 : P.T.O.



frfafed & @ y&% #1 3-4 9= § s A .
i 3w o

(i) wEFE ST Y W F gHEY 2

(iii) ¥9E Y9 =yEEen A

(iv) WS =EENl W BC WM RRT W S SOEied
(v) HR WA d9rn W

(vi) 97 E1 FY¥ W YRR @ gEee

(vi) TR T WY w wiREr

(vii) & Tl g fFA-fe fagel w fam w40

Unit I (3ehTE 1)

- What are the objectives of interior decoration ? Explain

any one element of art. 8
ﬁﬂmﬂﬂﬁ%ﬂ%wviﬂﬂmﬂ%ﬂﬁﬂ
F U HIA |

. Describe different types of colour schemes with suitable

examples. 8

fafi= yer it 1 diere @1 SEew wive avie #if |

. Write in detail about equipment and accessories needed

for flower arrangement. What points should be follow
while doing arrangement ? 8
I TS fag g ffT oM o Sueer wE waneE
H1 o HIT | 9 Tae RO gC e FRA-fea el
H WH F W AR ?

1-1843 2

. Describe formal table setting in detail for breakfast, major

meals and evening tea time. Support your answer with
the help of line diagrammes. 8
A A9 ST AR W, SeEes = o
T A & 9ng % fag #ifw | Wt @ g o
Tafea wifg |

Unit II (318 I1)

. Write about requirement of light in different areas of a

house for performing different activities. 8

fafr= nfafafel = fou = 3 - o = v
® FEATIHA F IO FIAT |

. Which points will you -keep in mind while selecting

furniture for your home ? 8
ﬁﬂﬂ%@n%ﬁ@mﬂiﬁﬂ%wﬂg
T W faEr w2

. Write short notes on the following : 2x4=8

(@) Wall accessories (b) Floor coverings.
frafafan ® wra femfira? fafea .
(1) R ® I () Y faEE |

. Write in detail about various types and materials used for

furniture meant for rest and sleep. 8
IRM & 0 % fau wam fag wm A A= yer 3
TR 9 3% g ® fA wEm w9 Al e w5
ol wifeY |

(2-16/6) 1.-1843 3 250
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| BCA/M-18 1928
~ WEB DESIGNING USING ADVANCED
TOOLS
BCA-361
Time : Three Hours] [Maximum Marks : §0

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks.

1. (a) What is the use of delete operators in JavaScript ?

(b) Discuss the syntax and semantic of “in” operator in
JavaScript using suitable example.

(c) What is XML Attribute ? What is the use of it ?
Discuss using suitable example.

(d) Write the CSS code to style an element when a
user mouses over it.

(¢) What is the difference between == and ===
operators in PHP ? .

Unit I

2. (a) Explain the use concatenation operators
(i.e. + and &) in VBScript using suitable examples. -

(3-35/6) 1.-1928 P.T.O.



(b)

(b)

(b)

(b)

(®)

1-1928

What are the common HTMIL events ? How can

JavaScript react to these events ? Discuss.

What are the difference between functions and sub-
procedures in VBScript ? Explain cmm.cm suitable
examples. |

How do you add a method to an object in

JavaScript ? Explain using an example.

Unit I1

What are the rules for naming PHP variables ?
Discuss. _
What are the different techniques connecting to

databases in VBSecript ? Explain.

What are the different loops available in ASP ¢
Explain.

Write a brief note on macro-media Dream-weaver.

Unit 111

What is the difference between id selector and
class selector in CSS 9 Explain using suitable
examples.

How can you change the style dynamically using
DOM ? Discuss.

7. (a)
(b)
8. (a)
®)
9. (a)
(b)

(3-35/7) 1-1928

What is the difference between External, Internal
and Inline style sheets ? Explain using suitable
examples.

What are the different techniques to specify the:

color values ? Discuss.

Unit IV

What is a well formed XML Document ? Write a
note on the syntax of XML.

How are the attributes of the element specified

‘using DTD ? Explain using suitable mmeEmm.

Create an XML document specifying the contact
address of person. Make the necessary assumptior.
For the above XML document, create the DTD
document.

W

1,950



20| B[ S | Total Pages : 03

BCA/M-18 1930

COMPUTER GRAPHICS
BCA-363

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting one question

from each Unit. All questions carry equal marks.

1. Answer the following in brief :
(a) What is a bit plane ?
{b) How is a point represented in a Omﬁmmﬁs Coordinate
System ?
(c) What do you mean by the term scan conversion ?
(d) How is a point on a circle represented using polar

coordinates 7

appiied 10 ax

(f'  What is tise effec: of draggi

38

g technique applied

(g} What wili be the four bit code for the view a
region  {viewport/vizip areay)  when  Cohen-
(2]

Sutherland algorithm s applied for clipping lines

@-221H1-1930 PT.G.
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L-1939

(h) What will be the 3-D transformation matrix for
scaling if S = me =8S,=2.
Unit I

(a) Explain any four applications of computer graphics.
(b) What is the purpose of a look-up table and display

processor in a graphics system ?

Give brief description of the following :
(a) Plasma panel (b) Joy Stick.

Unit II

Explain the Bresenham’s algorithm for drawing lines and

use it to compute the points on a line with end points as

(4, 6) and (11, 8).

Distinguish between flood-fill algerithm and scan-line fill

algorithm for filling objects.
Unit 111

uare with diagonal vertices at (2, 2) and
(6, 6). What will be the new coordinates of the vertices
of the square if it is scaled to 2 times its original size ?

Jse matrix computations to derive your answer.

rd

(2-12/1531,.3930

(@) Derive the rotation transformation w.r.t. the origin.
(b) What do you mean by composite transformation,

inverse transformation, and affine transformation ?

Unit IV

Distinguish between a window and a viewport. Describe
the 2-D viewing transformation that maps a window in
world coordinates onto a normalized viewport using an

appropriate example,

(a) Describe any two three-dimensional display methods,
(b)  Write the 3-D transformation matrices tor translation

and rotation.

W
}Q
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BCA/M-18 1931
INTERNET TECHNOLOGIES
BCA-364
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.
(Compulsory Question)

1. (a) What is Remote Procedure Call ?

(b) Explain term IPV4.

(¢) Explain the concept of POP protocol.

(d) Explain IPSec.

(¢) What is the equivalent layer or layers of the
TCP/IP Application layer in terms of OSI reference
model ?

() What is e-Mail ?

(g) What is static and dynamic routing ?

(h) Briefly describe NAT. 8x2=16

(2-13/1) 1L-1931 P.T.O.



Unit 1

What is OSI Model ? Explain the functions and protocols

2.
and services of each layer. 16
3. (a) Explain in detail about Internet architecture with
neat diagram.
(b) Differentiate between :
(1) USENET and NNTP
(i) Internet and Intranet. 8+4+4=16
Unit I1
4. (a) Explain the extension headers in IPv6.
(b) Discuss in detail about the role of DNS. 8+8=16
5. (@ Compare IPv4 and IPv6.
(b) Compare and contrast between DHCP and ARP in
detail with their applications. 8+8=16
Unit 111
6. (a) What elements would you use to demonstrate the
MIME type ? Explain in detail.
(b) Differentiate between FTP and TFTP.  10+6=16
7. (a) Elaborate in detail about SMTP and SNMP protocols
with an illustration.
(b) Differentiate between RTP and RTCP.  10+6=16
1-1931 2

(2)

(b)

(a)

(®

Unit IV

What are the principles of firewall design ? Also
explain the various firewall techniques.
What do you mean by internet multicasting ?

Discuss. 10+6=16

Discuss in detail about the reliable flooding
technique based on link state (OSPF) protocol.

Write a detailed note on Virtual Private Network
(VPN). | 10+6=16

(2-13/2) 1-1931 3 2,000
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BCA/M-18 1932
ADVANCED PROGRAMMING WITH
VISUAL BASIC
BCA-365

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. In addition to that attempt four
more questions, selecting one question from each Unit.

All questions carry equal marks.
(Compulsory Question)

1. (a) Explain any rwo properties of a form.

(b) What do you mean by a form-load event ?

(¢) How can you add access character to a menu
item ?

(d) What is the difference between toolbar and
coolbar ? ,

(e) Write the syntax to create a circle in VB.

()  What do you mean by LOF and EOF ?

(g) Enlist the various data bound controls.

(h) Which data control can be used for remote

access ? - 8x2=16

(2-13/3) L-1932 P.T.O.



2. Write a program in VB which creates a collection and
show various types of processing such as adding an item,
removing an item, counting the items and displaying the
items in a collection. . 16

3. (a) Write and explain the purpose of the following in

VB :
(i) Load and unload statement
_(i1) Activate and deactivate events. 4 8
(b) Explain drag and drop operation in a form with the
help of a small VB program. 8
Unit 11
4. Explain the following in detail :
(1) Common Dialogue Box
(i1) Rich Text Box Control. 16

5. Write a program in VB having menu items File and Edit.
Insert New, Open, Save under File menu, and Cut, Copy,
Paste under Edit menu. Write the coding for the submenus
under edit menu, show the design, and explain the
procedure to create this project. 16

1-1932 T2

Unit 1

(2-13/4) 1.-1932 3

Unit 11

How many types of files can be created in VB ? Explain

the use of each type of file using suitable examples. 16

Write a VB program for drawing a rectangle filled with
blue colour on the form. The starting point of the rectangle
is at place where mouse first get down and move to the

end point when mouse get released. 16

Unit IV

Explain various methods of connecting database with VB.
Which of the methods is most suitable to different type
of databases ? Explain its major properties and methods

in detail. 16

Write a program in VB to read and write the employee
records from a database. How can you update the database
using VB program ? Explain using data access objects.

16

2,050
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BCA/M-18 1933
PROGRAMMING IN CORE JAVA
BCA-366

Time : Three Hours! [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions, selecting one question-

from each Unit.

I. Answer the following questions in brief : 8§x2=16

(1)  Explain the signature of main method in JAVA.

(1)) What is nested class ? What is its usage ?

‘(ii1) Explain the use of static keyword with an example.

(tv) What are Command Line Arguments ? Explain.

(v) Differentiate between interface and abstract class.

(vi) What is the purpose of the finally clause of a 3\-
catch-finally statement ?

(vii) What do you mean by polymorphism ? How is it
achieved in JAVA ?

(viil)) What are Container classes ? Explain.

// , 2-13/5) L-1933 . PTO.



(b)

Unit I

What is byte code ? How is it related to JVM ?
How JAVA is platform independent ? Explain. 8
Explain the concept of identifiers, literals and

keywords in JAVA with examples. 8

3. Explain the following :

(a)
(b)

(b)

(b)

1.-1933

Hierarchy of Arithmetic and Logical Operators 8

For and for........ each statements. 8

Unit I

Explain different ways of passing parameters to a
method in JAVA programming. 8

What do you mean by Constructor ? Differentiate

between default constructor and parameterized

constructor with an example. 8

With the use of 2D array write a Java program to
interchange the rows and columns of a given matrix.

8
What is a Stringbuffer class and how does it differ
from String class ? Explain any three methods of

class string and string buffer. 8

(b)

Unit 111

How do you define and implement interface in
JAVA ? How can you extend an interface ? Explain
with an example. 8
What is Inheritance ? Explain the multilevel

inheritance with a suitable example. 8

What is a package 7 What are the benefits of using

packages ? Write down the steps in creating a

package. 8

Explain different access protection which can be

used in packages.: 8
Unit IV

8. What are Exceptions ? Distinguish between checked and

unchecked exceptions in JAVA. How can you create your

own exception in JAVA ? Explain with an example. 8,8

9. (a)

(b)

What is an applet ? Explain the methods used in
applet with examples. 8
Draw and explain the inheritance hierarchy for the

component class in AWT. ° 8

(2-13/6) 1.-1933 3 2,056
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BSIT/M-18 12391
COMPUTER SYSTEM ARCHITECTURE-II
BSIT-601
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt one question from each Unit.

1. Attempt all questions : 4x2=8

(a) Give formula for Speedup of a pipeline processing.

(b) Why we need two-three levels in memory
hierarchy ?

(¢) How many operating systems are needed to control

a multiprocessor ? Write another name for tightly

coupled microprocessors 7

(d) What is the minimum number of bits that a frame

must have in the bit oriented protocol ?
Unitl

2. (a) Explain the four-segment instruction pipeline with
example. 5

(b)  Write a short note on memory interleaving. 3

(2-06.3) L-12391 P.T.O.



4x2=8

Superscalar Processors.

Write short notes on the following :

(a) Paralle] Processing  (b)

Unit 11

(@)  What do you mean by Cache memory ? Explain its
three types of mappings with examples. 6
(b)  The logical address space In a computer system
consists of 128 segments. each segment can have
up to 32 pages of 4K words in each Physical
memory consists of 4K blocks of 4K words in
each. Formulate the logical and physical address

formats ? 2

Write short notes on any nvo of the following
(a)  Content Addressable Memoryv
(b)  Auxiliary Memory

(¢)  Memory Management Hardware. 8

Unit TIT

Discuss in detai] - 8
(a)  Crossbar Switch
(b)  Multistage Switching Netwaork.

(@)  What do vou mean by multiprocessors ? Discuss

how multiprocessing improves performance. 3

L-12391 2

(b)  Explain 8x8 Omega switching network. 3
(¢)  Draw the diagram showing the structure of a three-
dimensional hyvpercube network. List all the paths
available from node 011 to 101. 2
Unit IV
8. What is DMA ? Explain the DMA controller and its
transfer. 8
9. (a) Draw timing diagram for handshaking transfer 2 5
(b)  How many characters per second can be transmitted
over a 1200-baud line in each of the following
modes ? (Assume a character code of eight bits)
(1) Synchronous serial transmission
(1)  Asvnchronous serial transmission with wo
stop bits
(i) Asvnchronous serial transmission with one
stop bt 3
(2-06/4) 1.-12391] 3 300
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BSIT/M-18 12393
IT
BSIT-603
Web Site Implementing Basic Design Tools-11

Time : Three Hours] [Maximum Marks : 40
Note : Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.

(Compulsory Question)

1. (1) Differentiate between check boxes and radio buttons.
(ii) What are the uses of XML ? |
(i) How JPEG is different from MPEG ?
(iv) What do you understand by “HYPERTEXT” ?

Unit I

2. Describe frames and frames based queries. Also write
ACTION, METHOD, ENCTYPE, SCRIPT attributes of

frame.

(3-05/1-12393 | P.T.O.



3.

4.

Write an HTML code for designing the following form :

OPINION POLL
(1)  Name of your organization.

(i1)  Select your continent

America
Africa

Australia

Asia

Europe

(111) Name of your country _ _

(iv) Main scope :
(a) S/W Development (b) H/W Design
(c) S/W Sales (d) Peripheral Sales.

(v)  Type your opinion about our product

Text Box

(vi) In your opinion, what is the status of our product ?
(a) Excellent (b) Very good

(c) Good (d) Fair
(e) Not good (f) Bad
(g) Very bad
Restart Sand now

Unit II

Which tools of multimedia could be implemented in

1.-12393 2

designing a website ? Explain.

(i)  How motion JPEG differ from MPEG ?
(i) ~ Write short notes on the following :
(a) Image Maps

(b) Image files and formats.

Unit 111
[llustrate cascading style sheets and train properties.

Define style sheets. Explain, how a web-written controls
the look and presentation of their document when viewed

by web browsers using style sheets.

Unit IV

Write XMI_scheme for the fpllowing :

usic ategorl Quantity Contpany

CD-ID  Tvpe Name Cost Name Singer

Consider an XML file which has an element called price
and assume that XML document has ten records. Using
DOM passer list all records where the price is more than
I 1,000.

(3-05/12)[.-12393 3 3066
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BSIT/M-18 12394

INTERNET CONCEPTS AND
APPLICATIONS-II
BSIT-604

Time : Three Hours] [Maximum Marks : 4C

Note : Attempt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory.

1. (a) Differentiate between cryptography and crypt
analysis.
(b) Name various multimedia compression schemes.
(c) What is difference between EDI and paper based
document transfer system ?

(d) Differentiate between intranet and extranet. 4x2=8

Unit I

2. (a) Explain the concept of Encryption.
(b) Explain DES method of Encryption. 35

3. Explain the steps to be taken to prevent infections in the

computer. 8

(3-05/13)L-12394 P.T.O.

Unit II
‘4. Explain various multimedia momg&o tools in brief. 8

5. Explain briefly Hardware and Software requirements of

Multimedia. 8

Unit I
6. What is EDI ? Explain the components of EDL 8

7. Describe the security schemes adopted in SSL and SET.
8

Unit IV
8. Explain the planning needed for creation of Intranet. 8

9. Explain the various intranet services. 8

L-12394 2 300



RollNo. ......... e, T
Printed Pages : 2 Hmw m. ]

Time allowed - 3 hours]

BSIT /M-18

EMBEDDED SYSTEM AND 8051 MICRO

CONTROLLER
- Paper-BSIT-605

[(Maximum marks - 41,

Note :- Attemps five questions in all by selecting one question.

1.

RN

h

Jrom each unit. Question number 1 is compulsory.

() Compare RISC with CISC,

(95

() Discuss bitassignment of PCON specific function register 2
(m) Draw timer/ counter contro] logic of §031. 2

(iv) Whatisthe significance of Transmi: flag TL whenitis cleared
and set? 1

Unit-

With the help ofiblock diagram list verious mfrémchmgm.m.aow

<

processor and explain the function of each unit. g

Explain with neatand clean diagram embedded s¥stem cn chip
(SOC) in detail. c

9

Unit—31
() Discuss programming medel of microcontroiler 8051, &
(L) Draw pin dizoram of IC 86551 <
() Disciss operating reodes o £805 1 410 &

k]

(3 Drav and explain bit parern o, 57

=0

Unit-1§1

Explain Shifi Register Mode, Standard UART Mode and

£

Multiprocessor Mode with reference to serial data transmission.d

i Explain various Addressing modes of §051. 6
(i} Draw and explain bit pattern of Program Status Word

(PSW) special function Register. 2

UnitJVv
() Discuss various steps used for testing the design of
&051. 6

() Explain Interrupt-driven program ie intdat. 2
I Whatis Assnchronous serial daa transmission? 2

Explain, characier transmission using time delay and Intermupt

driven character transmission. 6




